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4000
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1000

4000
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2000

1000

TVC(cbch) (0,0,0

K™ 1nui 7 ae+04 [ 25
- po 4138+ 0.0
p1 -34.18+ 0.00

TP delay [ns]

TVC(cbch) (0,0,4

- Ui, 7u3e+u4 [ 25
- po 4180+ 0.0
pl -34.31+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (O 0,8

- i boae+ud [ 25
o pD 4238+ 0.0
p1 -37.06+ 0.00

TP delay [ns]

TVC(cbch) (0,0,12

T g, gse+u4 / 25
e, po 4242+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,01

A 1L (e+Ud ] 25
P e po 4144+ 0.0
pL -34.31% 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (0 0,5

T 3326404 1 25
k. pO 4184+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(c,b ch) (0 0,9

T nui. 710e+u4 / 25
- pO 4239+ 0.0
p1 -35.77 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, O 13

T nug1yse+ud / 25
- pO 4255+ 0.0
pl -35.28 + 0.00

TP delay [ns]

4000

3000
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1000

4000

3000

2000

1000
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3000

2000

4000

3000
2000

1000

TVC(cbch) (0,0,2)

- C = 29.24 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,0,6

X~ 1L br1e+u4 [ 25
o po 4145+ 0.0
[ p1 -34.2+ 0.0

- C =30.08 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 0, 10

1000

- i 5 e +U4 | 25
- pO 4263+ 0.0
[ p1 -35.99:+ 0.00

T g bl/e+ud [ 25
P pO 4177+ 0.0
[ p1 -33.25+ 0.00

TP delay [ns]

TVC(Cbch) (o, 0 14

T gase+u4 /25
- pD 4239+ 0.0
L pl -34.95+ 0.00

TP delay [ns]
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2000

1000

4000
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1000

4000
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1000

4000

3000

2000

1000

TVC(cbch) (0,0,3

A 1 i buae U4 | 25
Foe po 4144+ 0.0
pL -33.57  0.00

[ C=29.79 [ps/ch]

L

50 100

TP delay [ns]

TVC(cbch) (0,0,7

S 4e+04/25
Fueee po 4203+ 0.0
pl -34.58 + 0.00

[ C =28.92 [ps/ch]

_L

50 100
TP delay [ns]

TVC(c,b ch) (0, O

T 449e+u4/25
- pO 4270+ 0.0
p1 -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (0, O 15

- ruguroe+ud [ 25
= 4243+ 0.0
-34.29 + 0.00

[ C=29.16 [ps/ch] ]
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TP delay [ns]



TVC(cbch)(OlO) TVC(cbch)(Oll) TVC(CbCh)(OlZ) TVC(cbch)(013)
AT 1w z14e+04 /25 A~ 1wy zag4e+U4 | 25 AT 1L 3zbe+u4 [ 25 AT 3zoe+ud | 25
4000 e, PO 4183+ 0.0 4000 - po 4192+ 0.0 4000 __- po 4215+ 0.0 4000 oo, po 4215+ 0.0
pl -34.26 + 0.00 pl -35.07 + 0.00 r pl -36.02+ 0.00 pl -36.12+ 0.00

- 3000

- 3000 N

3000 -1 3000

2000 4 2000 - 2000 - 2000

1000 . 1000 - 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (01,4 TVC(cbch) (0.1, TVC(cbch) (0,1,6 TVC(cbch) (0.1,

“ g, l)uaeﬂJA 125 “rnarg i)EZE+U4/25 “ g J)léeHJd 125 “rnarg L)SEE+04/25
4000 fom pO 4208+ 0.0 4000 Fem, pO 4215+ 0.0 4000 [, pO 4229+ 0.0 4000 s pO 4233+ 0.0
Pl -34.49: 0.00 Pl -34.53% 0.00 [ PL_ -35.27%0.00 -34.5% 0.0
3000 4 3000 - s000 ] 3000 4
2000 g 2000 E 2000 1 2000 4
L~ = ] ] 1000 C = B [ ]
w00f- C = 29.00 [ps/ch] . 1000 [ C =28.35[ps/ch ] woo C = 28.99 [ps/ch] .
1 ' [ 1 1 "] 1 1 "
50 100 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(0,1,8) TVC(ehe=(0,1,9) TVC(eh.eh=(0, 1, 10) TVC(ebe)=(0, 1, 1)
TnunLype+ud /25 - gyge+u4 / 25 T rnuzy1se+u4 / 25 - i yaze+u4 [ 25
4000 pO 4210 00 4000 pO 4227+ 00 4000 DO 4245500 4000, p0 4244% 00
pl 3507000 Pl -34.34% 000 L PL_ -35.32% 0.00 Pl -35.34% 000

3000

-1 3000 - 3000 - 3000 -1

2000 B 2000 4 2000 — 2000

1000 1000 -1 1000

w00~ C = 29.12 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (0o, l 12) TVC(c,b Ch) (0, l 13) TVC(c,b Ch) (o, 1 14) TVC(c,b Ch) (0, 1 15)
~ 1 nuiL45ye+u4 / 25 T byze+ud [ 25 T nuiLoyre+ud [ 25 T byle+u4 /25
4000 fe, pO 4263 0.0 4000 fF pO 4269% 0.0 4000 fe, PD 4253+ 0.0 4000 fam, pO 4262+ 0.0
Pl -37.06+ 000 Pl -37.79+0.00 [ Pl -36.83%0.00 Pl -36.93+0.00

3000

-1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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TVC(cbch) (0,2,0

A7 nun ssae+04 /25
P, po 4201+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(cbch) (02,4

T rnun3z1e+04 / 25
- pO 4184+ 0.0
pl -35.68:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 2,8

Trnuzz1ce+u4 [ 25
= po 4227+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (0,212

T 43e+04 / 25
= po 4245+ 0.0
pl -36.73+ 0.00

TP delay [ns]
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1000
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1000

4000
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2000

1000

4000
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1000

TVC(cbch) (0,2,1)

- i tlsae+ud |25
., pO 4195+ 0.0
pL -35.46 + 0.00

TP delay [ns]

TVC(c,b ch) (0 2,5

= nui bh3e+ud [ 25
pO 4203 0.0
pL -36.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

~ 1 nu.4z29e+04 [ 25
po 4259+ 0.0
pl -36.32 + 0.00

TP delay [ns]

TVC(cbch) (0,213

T inuiLgrye+ud [ 25
pO 4230+ 0.0
pl -36.76 + 0.00

TP delay [ns]
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1000
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4000
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1000

TVC(cbch) (0,2,2)

A7 nun suse+u4 / 25
- po 4211+ 0.0
L pl -35.81+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,2,6

“rnubb1e+ud [ 25
- pO 4201% 0.0
3 pl -36.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 2 10

1000

T, roze+u4 | 25
-, po 4260+ 0.0
- pl -36.15+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,2 14

T r1ie+ud /25
-, pD 4245+ 0.0
L pl -37.09+ 0.00

3000
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TP delay [ns]
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TVC(cbch) (0,2,3

AT 1 nuiLbz4e+U4 [ 25
- po 4220+ 0.0
p1 -36.55+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,7

=1 nui byle+u4d / 25
- pO 4228+ 0.0
pL -37.16+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 2

Tz, zye+u4/25
- po 4258+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(C, bch) (0,215

-1 nui sboe+ud / 25
= pO 4244+ 0.0
p1 -36.92+ 0.00

TP delay [ns]
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1000

4000

3000
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TVC(cbch) (0,3,0

AT 1nui zore+u4 /25
P po 4200+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (0,34

- i z2u3e+u4 / 25
4188+ 0.0
-34.8+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (O 3,8

©1nuig.4u4e+u4 [ 25
= po 4222+ 0.0
pl -34.71+ 0.00

TP delay [ns]

TVC(cbch) (0,312

T i ssve+u4 / 25
= po 4257+ 0.0
p1 -36.7+ 0.0

TP delay [ns]
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TVC(cbch) (0,3,1

A1 lave+Ud | 25
P po 4199+ 0.0
pL -34.98+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,5

-1 nui 388e+u4 / 25
e, pO 4193 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

~ 1 nuy.anbe+ud 25
= po 4236+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (0,3,13

T inai ssze+ud [ 25
= pO 4247+ 0.0
-35.15+ 0.00

TP delay [ns]
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TVC(cbch) (0,3,2)

1000

AT 1nun zsse+u4 /25
-, po 4211+ 0.0
L p1 -36.1+ 0.0

3000

TP delay [ns]

TVC(cbch) (0,36

1 nuiL449e+04 | 25
-, pO 4212+ 0.0
u pl -36.73 + 0.00

3000

TP delay [ns]

TVC(cbch) (0, 3 10

©1nui.uu4e+ud [ 25
- po 4246+ 0.0
- pl -35.02+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,3 14

T 14ve+ud /25
- pD 4268+ 0.0
L pl -36.28 + 0.00

3000

TP delay [ns]
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TVC(cbch) (0,3,3)

T onun Lz4e+04 /25
== pO 4224+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,7

=1 nui bhye+u4 / 25
- pO 4225+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 3

T 915e+u4/25
= pO 4254+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(C, bch) (0,3,15

T nui ss0e+ud [ 25
- pO 4263+ 0.0
p1 -35.27 + 0.00

TP delay [ns]
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1000
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TVC(cbch) (0,4,0)

T Lose+ud /25
.. pO 4203+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (04,4

- i bzye+ud / 25
= pO 4199 0.0
pl -36.38:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

©1nuz5ue+u4 / 25
- po 4220+ 0.0
-34.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,4,12

~ i byze+u4 / 25
4227+ 0.0
-36.41+ 0.00
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TVC(cbch) (0,4,1

AT 1L oyoe+ud [ 25
P, po 4184+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

=1 nuiL 4uye+u4 / 25
4201+ 0.0
-36.8 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 4,9

" nai 740e+04 | 25
- po 4235+ 0.0
p1 -34.98 £ 0.00

TP delay [ns]

TVC(cbch) (0,4,13

TinuiLpl/e+ud /25
= pO 4235 0.0
pl -36.35+ 0.00
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1000

TVC(cbch) (0,4,2)

A~ 1 nui oyse+ud / 25
po 4219+ 0.0
pl -38.03+ 0.00

1=
50 100

TP delay [ns]

TVC(cbch) (04,6

= 1 nurLyspe+ud / 25
pO 4222+ 0.0
pl -37.91 0.00

TP delay [ns]

TVC(cbch) (0, 4 10

T, [ r3e+04 [ 25
. po 4257+ 0.0
- pl -35.55+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,414

Ty rae+u4 /25
- pD 4226+ 0.0
L p1 -36.64 + 0.00
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TVC(cbch) (0,4,3)

A7 1 nuiLbobe+ud /25
- po 4226+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,7

= 1 Ui Sede+ud | 25
= po 4217+ 0.0
pl -37.13+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 4

T, /34e+u4/25
- pO 4264+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(C, bch) (0,4,15

T nai rzoe+ud [ 25
4235+ 0.0
-37.41+ 0.00

50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000
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TVC(cbch) (0,5,0)

AT zzze+04 /25
4176+ 0.0
-36.64 + 0.00

TP delay [ns]

TVC(cbch) (0,5,4

1r8e+u4 /25
4190+ 0.0
-35.18 + 0.00

— po,..u.l
pl
e ]
% T
TP delay [ns]
TVC(cbch) (O 5,8
g pD

T L yse+u4 [ 25
4181+ 0.0
-34.42+ 0.00

p1

TP delay [ns]

TVC(cbch) (0,5,12

= po
p1

1 nuiLpode+u4 / 25
4194+ 0.0
-34.69+ 0.00

TP delay [ns]
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TVC(c,b ch) (0,5,
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1

AL 9ae+U4 ] 25
4175+ 0.0
-37.55+ 0.00

TP delay [ns]

TVC(c,b ch) (0 55

pO
pl

-1 nui 24ye+u4 [ 25
4180+ 0.0
-36.11 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0 59

TinuY/ie+ud [ 25
4200+ 0.0
-35.36 + 0.00

TP delay [ns]

TVC(cbch) (0,5,13

Inun 13e+u4 [ 25
4200+ 0.0
-34.55+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000
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1000

4000

3000
2000

1000

TVC(cbch) (0,5,2)

=, po

A7 1nuizuie+u4 /25
4181+ 0.0
-36.72+ 0.00

pl

TP delay [ns]

TVC(cbch) (0,56

pO
p1

-1 i 3b4e+04 / 25
4191+ 0.0
-35.92 + 0.00

TP delay [ns]

TVC(cbch) (0, 5 10

= pO

T nuizglie+ud | 25
4222+ 0.0
-35.16 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,5,14

- DD
pl

T 1L syse+ud [ 25
4203+ 0.0
-35.5+ 0.0

TP delay [ns]
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TVC(cbch) (0,5,3)

e pO

T onun Lz4e+04 /25
4183+ 0.0
-36.15+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (0 57

pe=e. pO
pl

-1 nui 418e+04 / 25

4201+ 0.0
-33.79+ 0.00

[ C =29.59 [ps/ch]

_L

1
50 100

TP delay [ns]

TVC(c,b ch) (0, 5

= pO

SRR b/He+U4/25
4217+ 0.0
-34.65+ 0.00

TP delay [ns]

TVC(C, bch) (0,5,15

== pO

T nui sble+ud [ 25
4202+ 0.0
-35.06 + 0.00

TP delay [ns]
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4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,6,0

A~ 1 nun Sose+ud [ 25
- po 4205+ 0.0
p1 -36.43+ 0.00

TP delay [ns]

TVC(cbch) (06,4

- 1L 4gye+ud [ 25
po 4193+ 0.0
pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (O 6,8

-, fole+ud [ 25
po 4211+ 0.0
p1 -36.52:+ 0.00

TP delay [ns]

TVC(cbch) (0,6,12

T L gsse+u4 / 25
pO 4222+ 0.0
pl -34.88 + 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,1

AL 3a1e+U4 ] 25
Fee,, po 4196 + 0.0
pL -35.88+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,5

- /L 515e+U4 / 25
= pO 4177+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (0 6,9

~1nai z4ze+05 / 25
= po 4226+ 0.0
p1 -36.23+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 6 13

~ 1 nuiLbuve+ud / 25
= pO 4215+ 0.0
pl -35.06 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,6,2)

X~ 1L zyse+u4 [ 25
=, po 4201+ 0.0
L pl -35.59 + 0.00

3000

TP delay [ns]

TVC(cbch) (06,6

T 1nuiLbage+u4 | 25
b, pO 4195+ 0.0
L p1 -35.79+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(0, 6, 10

1000

0

-1 nug 503e+04 / 25
- po 4251+ 0.0
o pl -37.08+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,6,14

- 1 i sYse+u4 [ 25
- pD 4219+ 0.0
L p1 -35.74.+ 0.00

3000

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,3

A1 nuiL 3/ re+ud [ 25
- po 4218+ 0.0
pL -36.23+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

=1 nuiL, 749e+04 | 25
= po 4193+ 0.0
pl -34.85+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

Ty, we+u4/25
- pO 4264+ 0.0
p1 -37.42+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6 15

- i plse+ud [ 25
= pO 4219+ 0.0
p1 -35.47 + 0.00

TP delay [ns]
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4000

3000
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1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,7,0

X~ 1 413e+04 /25

o= po 4200+ 0.0
pl -37.37 + 0.00

TP delay [ns]

TVC(cbch) (0.7,4

T ro/e+04 [ 25
- pO 4220 0.0
pl -35.36+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 7,8

©1nuz, 3gpe+u4 | 25
- pO 4234+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (0,7,12

T 1ose+ud /25
= po 4220+ 0.0
pl -34.47 + 0.00

[ C =29.01 [ps/ch]
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1000
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1000

TVC(cbch) (0,7,1)

- La4e+ud | 25
., pO 4211 0.0
pl -37.67+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

-1 nui bage+u4 / 25
- pO 4223+ 0.0
pL -36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

T nun.g3/e+u4 /25
- pO 4242+ 0.0
pl -36.65 + 0.00

TP delay [ns]

TVC(cbch) (0,7,13

S tloe+ud [ 25
= pO 4237+ 0.0
pl -36.47 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,7,2)

AT 1nuia4/e+04 /25
- po 4233+ 0.0
o pl -37.92+ 0.00
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4238+ 0.0
-37.1+ 0.0

PR R R SR R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

o po

AT 1nuiLgr/e+u4 [ 25
4197+ 0.0
-35.2+ 0.0

p1

TP delay

TVC(c,b Ch) (0, 14 7

E. pO

[ns]

CnuiLb/e+u4 [ 25
4205+ 0.0
pl -34.56 + 0.00

TP delay

TVC(e.beh)=(0, 14, 11

. pO

[ns]

T nuiL g oe+u4 [ 25
4230+ 0.0
pl -36.06 + 0.00

TP delay

TVC(cbch) (0, 14 15

e pO

[ns]

-1 nui oyse+ud / 25
4243+ 0.0
-37.31+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 15 0)

[ C =29.74 [ps/ch]

T rnuiLzule+u4 /25
.. pO 4193+ 0.0
-33.62 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,154

- i 3z3e+04 / 25
- pO 4208+ 0.0
p1 36+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 15 8

T z.z3e+04 /25
= po 4217+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

T, ruse+u4 / 25
= po 4229+ 0.0
pl -34.86 + 0.00

TP delay [ns]

TVC(chh) (0,15,1)

3000 - T
2000 - T
wof C = 30.23 [ps/ch] .. ]

AT rnuanLiyse+ud [ 25
4000 [ po 4192+ 0.0
pl -33.08 + 0.00

TP delay [ns]

TVC(cbch) (0,155

4000

3000

2000

1000

- i bzze+u4 [ 25
4211+ 0.0
-36.3 + 0.0

TP delay [ns]

TVC(c,b ch) (0, 15

3000

2000

1000

-1 nuiy.ugYe+ud 25
4000 em, pO 4255+ 0.0
pl -35.38 + 0.00

TP delay [ns]

TVC(cbch) (0.15,13

4000 [

3000

2000

1000

T inuin43e+ud [ 25
pO 4219+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(CbCh) (0,15,2)

TP delay [ns]

TVC(cbch) (0.15,6

=i, rgge+ud | 25
- pO 4216+ 0.0
3 pl -36.41+ 0.00

A7 1 nuiozze+V4 /25
_- po 4215+ 0.0
o pl -35.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 15 10

1000

T, rg1e+u4 [ 25
-, po 4275+ 0.0
- pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 14

T4 roe+04 /25
- pD 4216+ 0.0
L -34.4+ 0.0

- C = 29.07 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,15,3)

AT 1 nuiLzsoe+ud [ 25
po 4210+ 0.0
p1 -34.88 + 0.00

TP delay [ns]

TVC(c, bch) (0,157

- nui broe+ud / 25
- pO 4232+ 0.0
pL -36.58+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

[ C=29.05[ps/ch]

T nai rz9e+u4 /25
pO 4252+ 0.0
p1 -34.43+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0, 15,15

T inuipzie+ud / 25
- po 4225+ 0.0
p1 -34.93+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0)

A1

= po

pl

D3/e+U4 /25
4181+ 0.0
-36.2+ 0.0

TP delay [ns]

TVC(cbch) (1,0,4

- i buge+ud / 25
4162+ 0.0
-35.94 + 0.00

ooy po
pl
e 4
5(‘) 10‘0 =
TP delay [ns]
TVC(cbch) (1 0,8
= po

T rnuizusze+u4 | 25
4187+ 0.0
-34.35+ 0.00

TP delay [ns]

TVC(cbch) (1,0,12

b, po
p1

T rnuiLsEe+u4 [ 25
4199+ 0.0
-34.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,1)

bude+u4 / 25
4184+ 0.0
-36.79 + 0.00

A

= po

pl

TP delay [ns]

TVC(c,b ch) (1, O

-1 nuiLbuse+u4d / 25
4172+ 0.0
-35.42 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

e, po

pl

T nug.y4/e+ud [ 25
4208+ 0.0
-34.54 + 0.00

TP delay [ns]

TVC(cbch) (1,0,13

=, pO

T inuiLgu/e+ud [ 25
4199+ 0.0
-35.94+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,0,2)

™, DO

T Loze+ud /25
4177+ 0.0
-35.52+ 0.00

pl

TP delay [ns]

TVC(cbch) (10,6

TnunLbae+u4 / 25
4182+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(cbch) (1, 0 10

- o

pl

Tz 37 e+u4 [ 25
4226+ 0.0
-34.75+ 0.00

TP delay [ns]

TVC(cbch) (1,0,14

~1nuizuzoe+u4 | 25
4212+ 0.0
pl -37.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3)

po

p1

AT 1L bobse+ud [ 25
4201+ 0.0
-36.33+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

peee. pO
pl

- nuiyz/e+u4 / 25
4193+ 0.0
-36.27 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, O

e pO

T azue+u4/25
4234+ 0.0
-35.46 + 0.00

pl

TP delay [ns]

TVC(C, bch) (1,0,15

P, pO

"1 nuizylae+ud [ 25
4205+ 0.0
-36.41+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0

X~ 1w syve+U4 [ 25
P po 4174+ 0.0
p1 -36.08 + 0.00

TP delay [ns]

TVC(cbch) (11,4

- L 514e+04/ 25
= pO 4174+ 0.0
p1 -35.59+ 0.00

TP delay [ns]

TVCebeh)=(1 1,8

T L yzse+u4 / 25
= po 4193+ 0.0
p1 -34.57 + 0.00

TP delay [ns]

TVC(cbch) (1,1,12

S i s571e+04 /25
= po 4209+ 0.0
pl -36.29 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

AT 1nuiLbyle+u4 / 25
' po 4194+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

“ i 1b3e+u4 [ 25
pO 4191% 0.0
pL -36.04 + 0.00

TP delay [ns]

TVCEebeh)=(1 1,9

- C =29.20 [ps/ch]

< blyzerud 125
pO 4217+ 0.0
pL -34.25 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (1, l 13

T nuiL p3be+ud / 25
pO 4202+ 0.0
-36.71+ 0.00

P R TR |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,1,2)

X~ 1w z4e+04 [ 25
- po 4194+ 0.0
L pl -35.24+ 0.00

3000

TP delay [ns]

TVC(cbch) (11,6

1000

- i b34e+04 / 25
- pO 4200+ 0.0
[ p1 -35.92+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,1,10

FC=29.10 [ps/ch]

T4 r8e+04 [ 25
= po 4225+ 0.0
[ pL -34.36+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (1,1 14

= 1o, (Ose+ud [ 25
= pD 4212+ 0.0
L p1 -36.76 + 0.00

3000

P PR TR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3

A1 nuaiL4nze+ud [ 25
P, po 4201+ 0.0
p1 -34.9+ 0.0

TP delay [ns]

TVC(c,b ch) (1 1,7

=1 nui bobe+u4d / 25
- pO 4200+ 0.0
p1 -35.14 + 0.00

TP delay [ns]

TVC(Eb.eh=(1 1,

1)
1 nui p4ze+u4 [ 25
- po 4228+ 0.0
p1 -34.98 £ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1 15

<1 nui p4oe+ud [ 25
- pO 4202+ 0.0
p1 -35.19 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0)

T Loze+ud /25
. pO 4194+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (1,24

- i 711e+04 / 25
e, pO 4212+ 0.0
p1 -35.79.+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1,2,8

T 1nuizuLze+u4 | 25
= po 4195+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(cbch) (1,212

T L rse+u4 [ 25
= po 4239+ 0.0
pl -36.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

X~ 1 i Sode+ud | 25
' po 4194+ 0.0
pL -35.18+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

“nuiLYsre+u4 [ 25
pO 4230+ 0.0
-35.7+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 2

T nugp31e+u4 / 25
po 4217+ 0.0
pl -35.02 + 0.00

TP delay [ns]

TVC(cbch) (1,213

Tinuialse+ud [ 25
pO 4237+ 0.0
pl -37.14+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,2,2)

AT inuisr1e+04 /25
_- po 4208+ 0.0
o pl -35.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

“rnuz0L/e+u4 [ 25
- pO 4238+ 0.0
[ pl -35.85+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

T rnuiLyy/e+u4 | 25
= po 4226+ 0.0
- pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (1,2 14

T 1yoe+ud /25
- pD 4238+ 0.0
L pl -36.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3)

T Lzse+ud [ 25
- pO 4202+ 0.0
p1 346+ 0.0

TP delay [ns]

TVC(c,b ch) (1 2,7

~rnuZ3le+u4 / 25
- pO 4235 0.0
p1 -35.54 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T, /Uée+U4/25
e pO 4249+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(C, bch) (1,215

T 1 nui suve+ud 25
4233+ 0.0
-36.11 + 0.00

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0)

- po

pl

AT 1nuiasie+ud /25
4204+ 0.0
-37.11+ 0.00

TP delay [ns]

TVC(cbch) (1,34

- 1 zyge+u4 / 25
™, pO 4198 0.0
pl -37.09 + 0.00

TP delay [ns]

TVC(cbch) (1 3,8

T nuzp3re+ud [ 25
- pO 4228+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (1,312

TinuiLo/re+u4 [ 25
- PO 4192+ 0.0
pl -33.33+ 0.00

[ C =30.01[ps/ch] ™.

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,1)

- po

AT 1 nuiLozoe+ud [ 25
4205+ 0.0
-35.73+ 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (1, 3

“rnun 150e+04 [ 25
F DU 4229+ 0.0
pl_ -38.35: 0.00

50 1(;0 =
TP delay [ns]

TVC(c,b ch) (1 3,9

T g gsie+ud [ 25
- pO 4246+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(cbch) (1,313

- 1obe+ud [ 25
- PO 4194 0.0
pl -33.44 + 0.00

[ C =29.90 [ps/ch] ]

PR U S S |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(c,b ch) (1,3,

- PO

p1

2)

K™ 1 nuiL4oye+04 / 25
4208+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(cbch) (1,36

- rnurL, 7use+u4 / 25
F pO 4229+ 0.0
3 pl -38.18:+ 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

- 90

Tonw z1ie+u4 /25
4268+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (1,314

- nar 21 26/25
- pO 4186+ 0.9
3 pl -33.2+ 0.0

- C=30.12 [ps/ch] ™. 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

o=, O

p1

AT rnuaiL4ie+ud [ 25
4223+ 0.0
-36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

-1 ysee+ud [ 25
- PO 4235 0.0
Pl -37.81% 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 3

T, /‘JBe+U4/25
- p0 4251+ 0.0
pL -35.46 + 0.00

TP delay [ns]

TVC(C, bch) (1,315

T inuin3ie+ud /25
- PO 4198+ 0.0
-34.03+ 0.00

[ C =29.39 [ps/ch]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0

A7 nui rose+u4 / 25
- po 4219+ 0.0
pl -38.26 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (14,4

- i 311e+04 / 25
= pO 4201% 0.0
p1 -34.95+ 0.00

50 10‘0
TP delay [ns]

TVC(eb.oh)=(1, 4,8

T 333e+04 / 25
- pO 42411 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (1,412

~ i bs4e+04 / 25
= po 4206+ 0.0
pl -34.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1

AL/ /e+u4 [ 25
F po 4223+ 0.0
pl -38.81+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

=1 nuiLas9e+ud | 25
== po 4215+ 0.0
-35.9 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 4

T nu.zz3e+u4 [ 25
- po 4268+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (1,4,13

T nui psle+ud / 25
— pO 4215+ 0.0
pl -35.82+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,4,2)

K™ 1 nui r9ye+u4 / 25
po 4226+ 0.0
pl -37.97 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,4,6

S rzie+V4 [ 25
- pO 4220+ 0.0
[ pl -36.43+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

T nuz345e+04 | 25
- DO 4288+ 0.0
L pl -37.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,4,14

~ 1L poye+u4 / 25
- pD 4218+ 0.0
L p1 -35.72+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

AT 1L ruze+ud [ 25
=, po 4227+ 0.0
pl -37.61+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

= nuiL 733e+04 / 25
= po 4226+ 0.0
pl -35.69 % 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

1)
-1 nuiLyZoe+ud / 25
- po 4276+ 0.0
-36.3 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (1,4,15

T nui p4ae+04 / 25
4210+ 0.0
-36.1+ 0.0

TP delay [ns]



TVC(cbch)(lSO) TVC(cbch)(lSl) TVC(cbch)(152) TVC(cbch)(153)
AT 1L 4z3e+04 [ 25 A~ 1L sive+ud /25 AT 1L 5 /ye+u4 [ 25 A~ 1nuaizgure+ud | 25
4000 P, PO 4189+ 0.0 4000 P po 4194+ 0.0 4000 _=— po 4199+ 0.0 4000 e, po 4208+ 0.0
pl -35.59+ 0.00 pl -35.39+ 0.00 r pl -35.62+ 0.00 pl -35.05+ 0.00

3000

- 3000 =1 3000 -

-1 3000

2000 E 2000 - 2000 2000 F

1000 - 1000 - 1000

wol C = 28.53 [ps/ch

L
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,54 TVC(cbch) (15, TVC(cbch) (1,56 TVC(cbch) (1,57

“ g 2419+UA 125 Tnar 2bHE+U4/25 “ g :))lie+U4 125 Sonarg, /)MEH)4125
4000 e, pO 4222+ 0.0 4000 pO 4223+ 0.0 4000 e, pO 4240+ 0.0 4000 s pO 4241% 0.0
Pl 3594+ 0.00 Pl -36.02% 0.00 H PL_ 36,67+ 0.00 Pl 35524 0.00
3000 E 3000 E 3000~ ] 3000 [ B
2000~ E 2000 E 2000~ ] 2000 B
woof ] 1000 ] w00 C = 27.27 [ps/ch ] w00 C = 28.15 [ps/ch ]
1 L= o [ 1 L= 1 -
50 00 50 00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (1, 5 8) TVC(c,b Ch) (1, 5 ) TVC(c,b, Ch) (1, 5 10) TVC(c,b Ch) (1, 5 1)
T nug 14/e+04 / 25 - i y14e+U5 / 25 T rnuz.yzze+u4 | 25 ~ g ubze+u4 [ 25
4000 [, pO 4234+ 0.0 4000 [, pO 4258+ 00 4000 [, DO 4272+ 00 4000 fam, p0 4279 0.0
Pl -36.33% 0.00 Pl -36.15% 0.00 [ PL_ -36.89+ 0.00 Pl -36.86+ 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000 e 2000 - 2000 — 2000

1000 E 1000 - 1000 E 1000

0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(lSl ) TVC(cbch)(1513) TVC(cbch)(151 ) TVC(cbch)(1515)
T rnuizul4e+ud [ 25 T nuiLyuse+ud / 25 T e+u4 [ 25 Tinan 1 poe+ud [ 25
4000 f pO 4250+ 0.0 4000 fe, pO 4246 0.0 4000 f, PD 4244+ 0.0 4000 i, pO 42554 0.0
pl -35.91+ 0.00 pl -35.76 + 0.00 F -35.5+ 0.0 pl -35.58 + 0.00

3000

T 3000 1 3000 -1 3000 -1

2000 -1 2000 1 2000 - 2000

1000 -1 1000

N 1000 -1 1000

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

T Love+ud /25
.. pO 4191+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(cbch) (1,64

- i bzye+u4 [ 25
e pO 4218+ 0.0
pl -36.71 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 6, 8

T4 e+u4 [ 25
- po 4219+ 0.0
p1 -34.75 + 0.00

TP delay [ns]

TVC(cbch) (1,6,12

T rnuizu4se+u4 | 25
= po 4230+ 0.0
pl -37.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

robe+u4 [ 25
4196+ 0.0
-36.59 + 0.00

A,

=, po

pl

TP delay [ns]

TVC(c,b ch) (1, 6

- i blze+u4 [ 25
4216+ 0.0
-36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

= po

Tinugy//e+ud [ 25
4239+ 0.0
-35.19+ 0.00

pl

TP delay [ns]

TVC(cbch) (1,6,13

T nuiLy4ne+ud [ 25
4227+ 0.0
-36.39+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000

2000

TVC(cbch) (1,6,2)

- C = 26.74 [pslc .

AT 1nun rsse+u4 /25
P po 4203+ 0.0
L pl -37.4+ 0.0

3000

1
50 100

TP delay [ns]

TVC(cbch) (16,6

- rnub1ze+04 [ 25
- pO 4219+ 0.0
[ pl -35.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 6 10

Tz 145e+04 / 25
- po 4254+ 0.0
- pl -34.96 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,614

1000

Tyl e+u4 [ 25
pD 4220+ 0.0
pl -36.02 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

e po

AT 1 nuiLo4/e+U4 [ 25
4211+ 0.0
-35.83+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (1 6,7

pO
pl

-1 nui 438e+04 / 25
4218+ 0.0
-35.07 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

= pO

T b/ée+l]4/25

4245+ 0.0
-34.63+ 0.00

[ C =28.88 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (1,6,15

-1 nuiz.yuye+ud / 25
4212+ 0.0
-36.12+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,7,0)

T L40e+ud /25
. pO 4184+ 0.0
pl -35.38+ 0.00

TP delay [ns]

TVC(cbch) (17,4

-4 4e+04 [ 25
P, pO 4195+ 0.0
pl -36.73+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(1,7,8

1 nuz.gs4e+04 | 25
= po 4217+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(cbch) (1,7,12

1 14e+ud [ 25
4226+ 0.0
-35.4+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,1)

X~ Lye+ud /25
e po 4201+ 0.0
pL -36.28+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

-1 b3ve+u4 / 25
o pO 4194+ 0.0
pL -36.51% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 7

-1 nu.pule+ud / 25
4219+ 0.0
-35.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,7,13

Tinaizo/e+ud [ 25
— pO 4228+ 0.0
pl -36.32+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (1,7,2)

A~ 1 nui oyse+ud / 25
= po 4194+ 0.0
L pl -35.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (17,6

- i, r89e+u4 [ 25
- pO 4238+ 0.0
3 pl -36.94 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

1000

T, [ roe+04 | 25
o=, po 4227+ 0.0
L pl -35.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,7,14

T zgse+u4 | 25
- pD 4222+ 0.0
L pl -35.39+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,3)

AT rnuiL r11e+ud /25
= po 4211+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (1,7,7

-1 nui B44e+04 / 25
- pO 4219+ 0.0
pL -37.21% 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 7

1)
-1 nuiz.yuse+u4 25
4238+ 0.0
-36.5 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (1,7,15

Tonany zze+ud | 25
= pO 4230+ 0.0
p1 -35.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0

K71 nui roae+u4 /25
P po 4173+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(cbch) (1,84

- i 1y3e+u4 / 25
e, pO 4212 0.0
p1 -37.75+ 0.00

50 100
TP delay [ns]

TVC(cbch) (1 8,8

T 1nuizuLze+u4 | 25
= po 4203+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(cbch) (1,812

T i sose+ud / 25
= po 4238+ 0.0
pl -36.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81)

o 1Crae+ud [ 25
= pO 4201 0.0
pl -37.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

~nui 31/e+04 / 25
e, pO 4204+ 0.0
pL -37.27+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

- naig1uze+ud [ 25
4229+ 0.0
-36.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,813

~ 1 nuiL bboe+ud / 25
= pO 4219+ 0.0
pl -35.23+ 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (1,8,2)

1000

AT 1nuLssie+4 /25
- po 4203+ 0.0
L p1 -36.6 + 0.0

3000

TP delay [ns]

TVC(cbch) (1,86

=1 nurLbpYe+u4 [ 25
- pO 4207+ 0.0
3 pl -36.98+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

1000

T rnuz.z14e+04 [ 25
= po 4241+ 0.0
- pl -36.03 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,814

TrnuiLp3/e+ud [ 25
- pD 4237+ 0.0
[ p1 -36.98 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

T Lyve+ud [ 25
- pO 4207+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

Srna 1 /e+04 /25
- pO 4208+ 0.0
pL -37.09+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T, /4ze+u4/25
4235+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (1,815

T 1nui bzse+ud [ 25
= pO 4236+ 0.0
p1 -35.78 + 0.00

TP delay [ns]



TVC(cbch) (1,9,0

4000 e

A~ 1w, rove+u4 [ 25
' po 4194+ 0.0
p1 -36.07 + 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (1,94

- i 338e+04 / 25
e po 4209+ 0.0
pl -36.23+ 0.00

4000 [
3000 - ]
2000 - ]
1000 C ]
0 = 00
TP delay [ns]
TVC(cbch) (1,9,8)
000 E © i og3e+u4 / 25
o, pD 4180+ 0.0
-33.9+ 0.0
3000 - ]
2000 - 7

w0 C = 29,50 [ps/ch]

1
50 00

TP delay [ns]

TVC(cbch) (1,9,12

4000 =

3000

2000

1000

S i s571e+04 /25
po 4206+ 0.0
pl -34.72:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,1)

X 1L oLie+ud | 25
e, po 4205 0.0
pL -35.79 £ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

-1 nui 4z4e+04 [ 25
- pO 4222+ 0.0
p1 -36.69+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

-1 nuiy ygse+ud | 25
= pO 4212+ 0.0
p1 -34.62+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 9 13

TinuiLnrse+ud [ 25
- pO 4194+ 0.0
p1 34,11+ 0.00

[ C =29.31 [ps/ch]

50

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (1,9,2)

A~ 1w psoe+ud / 25
_- po 4201+ 0.0
[ p1 -36.17 + 0.00

3000

TP delay [ns]

TVC(cbch) (19,6

1000

-1 nuiL45ze+04 [ 25
- pO 4228+ 0.0
[ 369+ 0.0

TP delay [ns]

TVC(eb.oh)=(1, 9, 10

1000

- rnuz r11e+u4 [ 25
= po 4229+ 0.0
L pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (1,914

1 nuiL49ve+ud | 25
= pD 4200+ 0.0
L p1 -35.27+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,3

A~ 1 nuiLBo3e+ud / 25
E po 4233+ 0.0
pL -37.99+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

- nui411e+u4 / 25
- pO 4233+ 0.0
p1 -36.01% 0.00

50 160
TP delay [ns]

TVC(c,b ch) (1, 9

SRR b':ue+l]4/25
4222+ 0.0
-34.1+ 0.0

[ C=29.33 [ps/ch] §

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 9 15

T nuiquse+ud [ 25
P, 4209+ 0.0
-34.24+ 0.00

[ C=29.21 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

T rnwiLgive+u4 /25
.. pO 4197+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (1,10,4

Tz rse+u4 [ 25
4185+ 0.0
-34.4+ 0.0

TP delay [ns]

TVC(cbch) (1, 10 8

T rnuzysie+u4 [ 25
= po 4229+ 0.0
p1 -37.2+ 0.0

TP delay [ns]

TVC(cbch) (1,10,12

T 10e+ud /25
= po 4223+ 0.0
p1 -33.9+ 0.0

[ C =29.50 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,10,1)

A1 Labre+Ud ] 25
o=, po 4213+ 0.0
pL -35.81% 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

~ 1 nui bo/e+u4 [ 25
e pO 4185+ 0.0
pL -35.07+ 0.00

TP delay [ns]

TVCEbeh)=( 1, 10,9

~ 1 nug gooe+ud / 25
= po 4235+ 0.0
pl -35.93 + 0.00

TP delay [ns]

TVC(cbch) (110,13

Tinai sze+ud [ 25
= pO 4227+ 0.0
pl -32.93+ 0.00

[ C =30.37 [ps/ch] ™, 7
s *
TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(CbCh) (1,10,2)

TP delay [ns]

TVC(cbch) (1,10,6

A~ 1nuia4/e+04 /25
=, po 4200+ 0.0
o pl -34.91+ 0.00

3000

-1 i bYpe+u4 / 25
- pO 4205+ 0.0
[ pl -35.32 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1 nuizusge+ud | 25
- po 4251+ 0.0
- pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (110,14

~1nuiLguse+u4 / 25
4228+ 0.0
-34.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

AT rnunLgzze+ud [ 25
=, po 4198+ 0.0
p1 -34.59 + 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

Cnui 7 e+04 [ 25
- pO 4217+ 0.0
pL -35.65+ 0.00

TP delay [ns]

TVC(eh.eh)=(1, 10, 11

-1 nuiz.1vae+u4 / 25
= po 4277+ 0.0
pl -38.22 + 0.00

TP delay [ns]

TVC(cbch) (1,10,15

T nui pbse+ud / 25
F=. 4212+ 0.0
-33.67 + 0.00

[ C=29.70 [ps/ch] ]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

A~ Lore+ud /25
4200+ 0.0
-37.11+ 0.00

TP delay [ns]

TVC(cbch) (1,114

Tnun145e+04 /25
- pO 4205+ 0.0
pl -35.76 + 0.00

50 10‘0
TP delay [ns]

TVC(ebeh=(1, 11,8

T a0y re+u4 [ 25
= po 4227+ 0.0
pl -36.81+ 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

X~ 1 pzse+u4 [ 25
= po 4240+ 0.0
p1 -36+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

AT 1L r14e+U4 [ 25
.. po 4210+ 0.0
pl -36.41+ 0.00

TP delay [ns]

TVC(cbch) (1,11,5

=1 Ui bobe+u4 / 25
4201+ 0.0
-36+ 0.0

TP delay [ns]

TVC(eb.eh)=(1, 11, 9

Tonair1/e+u4 /25
= po 4253+ 0.0
pl -37.55+ 0.00

TP delay [ns]

TVC(cbch) (1,11,13

TinuiLay/e+ud [ 25
pO 4238+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (1, 11 2)

~ 1w pzoe+ud [ 25
- pO 4225+ 0.0
- pl -37.27 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

- nunLg1Ye+u4 / 25
- pO 4220+ 0.0
[ pl -36.07 + 0.00

TP delay [ns]

TVC(e.b,eh)=(1, 11, 10

1000

0

X~ 11z bade+U4 [ 25
- po 4271+ 0.0
- pl -36.86 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 14

X~ 1 psze+ud [ 25
- po 4234+ 0.0
[ p1 -37.24+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

A~ 1 nuiLbuge+u4 / 25
- po 4227+ 0.0
pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (1,11,7

-1 nui yase+u4 / 25
- pO 4229+ 0.0
p1 -35.94 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

T inuiz 1 /oe+u4 [ 25
- po 4275+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (111,15

TinuiLor3e+ud [ 25
e pO 4244+ 0.0
p1 -37.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

T sose+ud [ 25
4154+ 0.0
-34.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,124

- 1L 383e+04 / 25
= pO 4171+ 0.0
pl -35.16 + 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 12,8

T nuz.4z3e+04 | 25
- po 4196+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (1,12,12

T 1o3e+ud /25
pO 4193+ 0.0
pl -34.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

X1 i abae+ud | 25
. po 4163+ 0.0
pL -35.15+ 0.00

TP delay [ns]

TVC(cbch) (1,125

~ 1 nui4/9e+04 / 25
- pO 4184+ 0.0
pL -35.45+ 0.00

TP delay [ns]

TVCEbeh)=( 1, 12,9

[ C =29.19 [ps/ch]

T inuw, r34e+04 / 25
= po 4202+ 0.0
p1 -34.26 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (112,13

T inuiLnoe+ud [ 25
= pO 4191+ 0.0
pl -35.78 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

AT inuiaz1e+04 /25
- po 4173+ 0.0
L p1 -34.88 + 0.00

3000

TP delay [ns]

TVC(cbch) (1126

-1 nuibaze+04 [ 25
- pO 4183+ 0.0
[ pl -35.27 + 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

1000

Tz 3g/e+u4 [ 25
= po 4223+ 0.0
L p1 -35.49+ 0,00

TP delay [ns]

TVC(cbch) (112,14

~ 1 nuiLpode+u4 / 25
pD 4207+ 0.0
pl -36.11 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,12,3)

A1 i adse+ud | 25
o=, po 2179+ 0.0
pL 344+ 0.0

TP delay [ns]

TVC(c, bch) (1,127

-1 nui byle+u4 / 25
- pO 4198+ 0.0
p1 -35.49+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 11

" nuiylae+ud [ 25
= po 4215+ 0.0
p1 -34.65+ 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- T inui oy /e+ud [ 25
pO 4195+ 0.0
-35.15+ 0.00

TP delay [ns]



4000

3000

2000

1000

TVC(chh) (1,13,0)

F. po

pl

X~ g s3re+U4 /25
4205+ 0.0
-37.48+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 13 4

= rnurg, 12$e+04 125
4000 & 4211+ 0.0
-35.2+ 0.0
3000 ]
2000~ 7]
1000 C 7]
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (1,13,8)
©nuz20ze+04 [ 25
4000 fm. pO 4194+ 0.0
p1 -34.22+ 0.00
3000 - ]
2000 = ]
oF C =29.23 [ps/ch] ™, ]
1 1 -
b 50 100

4000

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (1, 13 12

T rnuizusre+ud | 25
4251+ 0.0
-36.54 + 0.00

TP delay [ns]

TVC(chh) (1,13,1)

A1,

4000f po

pl

robe+u4 [ 25
4204+ 0.0
-36.9 £ 0.0

3000

2000

1000

TP delay [ns]

TVC(c,b Ch) (1, 13 5

4000 [,

-1 nun Byze+u4 [ 25
4224+ 0.0
-35.57 + 0.00

3000 -

2000

oo C = 28.11 [ps/ch]

1
50 00

TP delay [ns]

TVCEben)=( 1, 13,9

4000 5 pO

pl

T nun.z0/e+04 / 25

4252+ 0.0
-34.71+ 0.00

3000 -

2000

100 C = 28.81 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 13 13

4000 -, PO

T nui gsYe+ud / 25
4254+ 0.0
-36.86 + 0.00

3000

2000

1000

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

TVC(Cbch) (1,13,2)

o, PO

A~ 1nun, r3ae+04 | 25
4204+ 0.0
p1 -36.78+ 0.00

TP delay

TVC(c,b ch) (1, 13 6

- b

pl

[ns]

© 1 nuiLyspe+u4 / 25
4233+ 0.0
-36.18 + 0.00

TP delay

[ns]

TVC(c,b ch) (1, 13 10)

pO

pl

T nuigbaze+u4 [ 25
4264+ 0.0
-36.31+ 0.00

TP delay

[ns]

TVC(c,b Ch) (1, 13 14)

F= P"

pl

Srnu L s3e+ud [ 25
4236+ 0.0
-36.1+ 0.0

TP delay

[ns]

TVC(Cbch) (1,13,3)

3000

2000

1000

X1 ulie+ud | 25
4000 po 4227+ 0.0
pL -36.28:+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 13 7

4000 G

3000

2000

w000 C = 27.52 [pS/Ch 7]

=1 nuiLyb1e+ud / 25
po 4239+ 0.0
p1 -36.34 + 0.00

TP delay [ns]

TVC(eheh)=(1, 13, 11

4000 [Gue.

3000

2000

1000

T nuz.asoe+ud [ 25
po 4258+ 0.0
pl -35.88+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 13 15

4000 [,

3000

2000

1000

-1z uode+ud [ 25
pO 4256+ 0.0
p1 -37.04+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 14 0)

© i sube+u4 / 25
- pO 4200+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (1,144

-1 nuiLa38e+u4 / 25
e pO 4178+ 0.0
p1 -35.84+ 0.00

TP delay [ns]

TVC(cbch) (1,14,8

— Tz plze+u4 | 25
- po 4173+ 0.0
-33.19+ 0.00

[C=230.13 [ps/ch] ™. ]

0

1
50 100

TP delay [ns]

TVC(cbch) (1,14,12

T L psze+u4 | 25
= po 4260+ 0.0
pl -36.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

A~ 1 nuiL4use+ud [ 25

P, po 4194+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(c, bch) (1,145

-1 nuiLb2ze+V4 [ 25
™, DU 4191+ 0.0
pl -37.13+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,9

-1 nub.u4oe+ud / 25
= po 4199+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (114,13

<1 nuiLbyve+ud / 25
= pO 4253+ 0.0
pl -37.34+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (1,14,2)

TP delay [ns]

TVC(cbch) (1,146

K™ 1 nuiaoze+04 /25
__- po 4212+ 0.0
L pl -36.7 + 0.0

3000

- i bzye+ud [ 25
4175+ 0.0
-36.51+ 0.00

TP delay [ns]

TVC(e b eh)=( 1, 14, 10

T nuzoe+u4 | 25
= po 4223+ 0.0
- pl -34.82+ 0.00

TP delay [ns]

TVC(cbch) (114,14

1000

TrnuiLsL/e+u4 [ 25
- pD 4261+ 0.0
L pl -36.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,14,3)

AT 1 nuiL4uve+ud [ 25
- po 4229+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,7

- i r44e+04 | 25
- pO 4199+ 0.0
pL -36.18+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 14 11

T inuiprYe+u4 [ 25
= po 4213+ 0.0
p1 -34.27 + 0.00

[ C=29.18 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,14,15

Tanairzie+ud /25
= pO 4255+ 0.0
p1 -36.55+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

T rnuLss1e+u4 /25
F o pO 4205+ 0.0
pl -37.93+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (1,154

=i BuzZe+ud / 25
- pO 42254 0.0
p1 -36.46+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

1 nuzpope+u4 | 25
- po 4225+ 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (1,15,12)

T 1yoe+ud /25
= po 4232+ 0.0
pl -35.35+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,15,1)

AT 1L syse+ud [ 25
P, po 4207+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(cbch) (1,155

“nui ro/e+u4 [ 25
- pO 4228+ 0.0
-36.2+ 0.0

50 1(;0
TP delay [ns]

TVC(c, bch) (1, 15 9

T nay 333e+04 / 25
- po 4258+ 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(cbch) (115,13

TinaiLg/e+ud [ 25
= pO 4229+ 0.0
p1 354+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,15,2)

L=
50 100

TP delay [ns]

TVC(cbch) (1,156

1000

A7 nun ssse+u4 / 25
F po 4228+ 0.0
L pl -38.15+ 0.00

3000

~ i 745e+04 [ 25
- pO 4230+ 0.0
[ pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (1, 15 10

1000

0

T rnugusle+ud / 25
- DO 4272+ 0.0
- pl -37.12+ 0.00

TP delay [ns]

TVC(cbch) (1,15, 14

T rnuiLg43e+u4 [ 25
- pD 4236+ 0.0
L pl -34.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

AT 1L rs1e+u4 [ 25
=, po 4217+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(c, bch) (1,157

- 11 Buse+u4 / 25
- pO 4231+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(ehch)=(1, 15, 11

T inuiz 119e+u4 / 25
- pO 4290+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (1,15,15

T inui gyle+ud [ 25
= po 4235+ 0.0
p1 -35.2+ 0.0

TP delay [ns]



TVC(eb.eh=(2,0,0) TVC(eb.ch)=(2,0,1) TVC(eb.eh=(2,0,2) TVe(ED.ch=(2,0,3)
X~ 1L 72(e+04 125 X~ 74 re+Ud [ 25 X~ 1 1L Syoe+0d 25 A~ f rve+Ud [ 25
4000, po 4205+ 0.0 4000, po 4220+ 0.0 4000k, po 4214+ 0.0 4000 o, po 4207+ 0.0
Pl -37.54%0.00 Pl -37.37+0.00 3 Pl -36.45% 0.00 Pl -36.22% 0.00

3000

1 3000 =1 3000 -1 3000 -1

2000 1 2000 = 2000 =1 2000

1000 7 1000 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,0,4 TVC(cbch) (2,0,5 TVC(cbch) (2,0,6 TVC(c, bch) (2,0,

T (?U99+05 125 Tonarg, /)de*U5 125 Srna 1):>Ae+u5 125 T d)d4E+l)5/25
4000 pO 4192+ 0.0 40008 DU 4194+ 0.0 4000 [, pO 4212+ 0.0 4000 fe pO 4212+ 0.0
Pl -34.68% 0.00 -34.39 ¢ 0.00 [ L -3531% 0.00 Pl -34.58% 000
3000 E 3000 - a000| ] 3000 ]
2000~ 1 2000 B 20001 ] 20001 7
L ] L ] w0 C = 28.32 [ps/ch ] w000 C = 7]
1000 C w0 C = 29.08 [ps/ch] : [p ] C =28.92 [ps/ch] 2
1 1 - 1 1 - : 1 1 - 3 _1 1 -
50 T00 50 00 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2 0,8 TVC(cbch) (2 0,9 TVC(cbch) (2, 0 10 TVC(cbch) (2, O

4000 Tz 1yle+u4 [ 25 4000 T nu. 1bze+ud [ 25 4000 T a2 yize+ud | 25 T o, 1/ue+u4/25
- PD 4187+ 0.0 = DO 4200+ 0.0 - DO 4226+ 0.0 4000 pom, pO 4235+ 0.0
pl -34.92+ 0.00 pl -35.79 + 0.00 r pl -36.29 + 0.00 pl -36.06 + 0.00

- 3000

3000 - 3000 =1 3000 -1

2000 g 2000 E 2000 - 2000

1000 - 1000 - 1000 X —_ 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(ZOl ) TVC(cbch)(2013) TVC(CbCh)(ZOl ) TVC(cbch)(2015)
T i, ryve+u4 | 25 T 1 nuiL gyve+ud / 25 T Ly ze+u4 | 25 T nui y4ae+u4 /25
4000 o, pO 4206+ 0.0 4000 pO 4222+ 00 4000, PD 4219+ 0.0 4000 fo pO 4205 0.0
pl -34.35+ 0.00 pl -35.62+ 0.00 F pl -35.06 + 0.00 pl -34.54 + 0.00

- 3000

3000~ -1 3000 . 3000 .

2000~ 1 2000 T 2000 -1 2000

1000 N 1000 = 1000

000- C =29.11 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,0)

X~ 1 s 0ave+U4 [ 25
Y 4220+ 0.0
pl -40.19 + 0.00

()
50 100

TP delay [ns]

TVC(cbch) (21,4

- 1L bloe+ud / 25
pO 4178+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (2,1,8

Crnanzr3e+u4 [ 25
pD 4216+ 0.0
pl -36.74 + 0.00

TP delay [ns]

TVC(cbch) (21,12

T, r41e+04 / 25
PO 4206+ 0.0
pl -34.92 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1)

- rnun 4l5ve+ud [ 25
PO 4215+ 0.0
pl -38.99 + 0.00

TVC(c,b ch) (2,1,5

TP delay [ns]

'ynulibbe+04/25
Y 4194+ 0.0
pL -35.64 + 0.00

TVC(c,b ch) (2, 1

1(;0
TP delay [ns]

Tinua451e+04 /25
DO 4243+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(cbch) (21,13

T 1z, yuse+u4 [ 25
PO 4227+ 0.0
pl -36.44 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (2,1,2)

A7 1 nug.uooe+u4 / 25
[Fouee po 4220+ 0.0
F pl -37.81+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,1,6

- i fuae+04 | 25
e, pO 4198+ 0.0
I pl -35.75 + 0.00

TP delay [ns]

TVCebeh)=(2 1, 10

Tz 1r4e+04 /25
DO 4242+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(cbch) (21,14

TinuiLys/e+ud [ 25
4222+ 0.0
-36.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

AT s ze+04 | 25
PO 4228+ 0.0
pl -37.83+ 0.00

TVC(c,b ch) (2 1,7

TP delay [ns]

S nui /y/e+u4 /25
PO 4198+ 0.0
pL -35.67 + 0.00

TVC(c,b ch) (2, 1

100
TP delay [ns]

SRR 951e+u4/25
pO 4247+ 0.0
pl -36.52 + 0.00

TP delay [ns]

TVC(cbch) (21,15

-1z, usbe+u4 / 25
PO 4204+ 0.0
pl -35.85+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0)

A1

' po
pl

broe+u4 [ 25
4175+ 0.0
-35.01+ 0.00

TP delay [ns]

TVC(cbch) (2,24

P, PO
pL

- rnuiLaz9e+04 [ 25
4197+ 0.0
-37.21+ 0.00

TP delay [ns]

TVC(ebeh)=(2,2,8

B pD

T zose+u4 | 25
4190+ 0.0
-35.17 + 0.00

p1

TP delay [ns]

TVC(cbch) (2,212

e, po
p1

T rnuiLbrse+u4 [ 25
4236+ 0.0
-37.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1)

brre+ud | 25
4188+ 0.0
-36.14 + 0.00

FSALTR

=, po

pl

TP delay [ns]

TVC(c,b ch) (2 2,5

“nui b4 e+04 [ 25
4182+ 0.0
-36.13+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

S,
pO
pl

121e+U4 25
4234+ 0.0
-35.42+ 0.00

TP delay [ns]

TVC(cbch) (2,2,13

Ao,

(34e+U4 [ 25
4222+ 0.0
-36.17+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,2,2)

™, po

A7 1 nun suoe+u4 / 25
4192+ 0.0
pl -36.63+ 0.00

pD

! L
50 100
TP delay [ns]
TVC(cbch) (2,2,6)
— © i bzoe+u4 / 25
4197+ 0.0
-36.97 + 0.00

p1

TP delay

TVC(ebeh)=(2,2, 10

= 90

[ns]

Tz 14/e+04 /25
4227+ 0.0
pl -35.96 + 0.00

TP delay

TVC(cbch) (2,214

[ns]

-1 nuiLpobe+u4 / 25
4228+ 0.0
pl -36.89 + 0.00

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3)

5r3e+u4 /25
4205+ 0.0
-37.52+ 0.00

PSR

po
pL

TP delay [ns]

TVC(c,b ch) (2 2,7

g,
pO
pl

ro8e+04 | 25
4201+ 0.0
-36.87 + 0.00

50 100

TP delay [ns]

TVC(c,b ch) (2,2,

X~ g,

= po

v /1e+u4 125
4220+ 0.0
-35.33+ 0.00

TP delay [ns]

TVC(C, bch) (2,2,15

X1 naig,

(8oe+u4 | 25
4222+ 0.0
-35.65+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0)

- po

AT 1nuiag/e+04 /25
4206+ 0.0
-36.59 = 0.00

pl

1
50 100

TP delay [ns]

TVC(cbch) (2,34

bzbe+u4 / 25
4208+ 0.0
-36.52+ 0.00

- po,..u.l
pl
e 4
5(‘) 10‘0 =
TP delay [ns]
TVC(cbch) (2 3,8
e pD

T nuzg33e+04 | 25
4226+ 0.0
-36.94 + 0.00

p1

TP delay [ns]

TVC(cbch) (2,312

TrnuiLgre+u4 /25
4228+ 0.0
-34.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,1)

e, po

AT 1 nuiLbsse+ud /25
4213+ 0.0
-36.4 £ 0.0

pl

TP delay [ns]

TVC(c,b ch) (2 3,5

“nui4/1e+04 / 25
4196+ 0.0
-35.58 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

e, po

pl

Tnan 4.82e+04 1 25
4257+ 0.0
-37.47+ 0.00

TP delay [ns]

TVC(cbch) (2,313

T nui o3ve+ud / 25
4226+ 0.0
-34.72+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,3,2)

= PO

pl

A” 1L 444e+04 | 25
4209+ 0.0
-36.12+ 0.00

TP delay [ns]

TVC(cbch) (23,6

= P°

p1

©1nuiL44pe+04 / 25
4217+ 0.0
-35.84 + 0.00

TP delay [ns]

TVC(cbch) (2, 3 10

- o

T nu 3o e+u4 [ 25
4268+ 0.0
-36.14 + 0.00

pl

TP delay [ns]

TVC(cbch) (2,3 14

~ 1 nuiLpuge+u4 / 25
4226+ 0.0
pl -34.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (2,3,
= %
pl

3

nuiL420e+u4 / 25
4207+ 0.0
-35.82+ 0.00

TVC(c,b ch) (2 3,7

-

b= pO
pl

1
100

TP delay [ns]

nui b4/e+04 / 25
4197+ 0.0
-35.05+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2, 3

Sy /ye+u4/25
4257+ 0.0
-35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (2,3,

X1

15

nuiL5obe+u4 / 25
4228+ 0.0
-35.92+ 0.00

TP delay [ns]



TVC(CbCh) (2,4,0) TVC(CbCh) (2,4,1) TVC(CbCh) (2,4,2) TVC(CbCh) (2,4,3)
K- 16296 +04 ] 25 xS e+Ud ] 25 X~ 1 1L S00e+04 ] 25 x-S 1e+U4 ] 25
4000 fme, po 4204+ 0.0 4000 [, po 4190+ 0.0 4000 e, po 4197 0.0 4000 fe, po 4219+ 0.0
Pl -34.92+ 0.00 Pl -34.46+ 0.00 [ Pl -35.26% 0.00 Pl -36.29+ 0.00

- 3000

3000 - 3000 =1 3000

2000 E 2000 - 2000 - 2000

1000 - 1000 4 1000 1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2.4, TVC(cbch) (24,6 TVC(c, bch) (24,

S 24$e+04 125 Tnar J)JEEH)AIZE ~ g ';?déeﬂjd 125 T nar 2b1&+l)4/25
4000 pO 4208+ 0.0 4000 e, pO 4217+ 0.0 4000 e, pO 4228+ 0.0 4000 e, pO 42251+ 0.0
Pl 3576+ 0.00 pL -35.81% 0.00 3 pl -36.74+ 0.00 Pl -36.25+ 0.00

3000 [ B 3000 [ — 3000~ — 3000 B

2000~ E 2000 E 2000~ — 2000 B

1000 C ] 1000~ C 1 wool- C = 27.22 [ps/ch 7 wool- C = 27.59 [ps/ch ]

- - [ - ] -
- - - -
EY 00 = 5 T = 0 EY 0 = 0 5 T -
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

T nuiLyzie+u4 / 25 T 4.01e+04 /25 Trnuzr1e+u4 /25 SRR bb/e+U4/25
4000 4244+ 0.0 4000 e, pO 4259+ 0.0 4000 [, DO 4275+ 0.0 4000 4279+ 0.0
Pl -38.25: 0.00 Pl -37.28+0.00 L PL_ -37.17%0.00 -37.5+ 0.0

-1 3000

m
o
S

3000~ 1 3000 -1 3000 .

2000 1 2000 - 2000 : —: 2000 1
1000 [~ -1 1000 - 1000 : —: 1000 -1
% EY 05— 0 0 0 e 0o

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(24l ) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
T4 e+04 /25 T nuiLayze+ud [ 25 TrnuiLbr1e+u4 /25 T nan 1 oge+ud [ 25
4000 [m, pO 4244+ 0.0 4000 pO 4229+ 0.0 4000 PD 4233+ 0.0 4000 o, pO 4237+ 0.0
-34.56 + 0.00 -34.99.+ 0.00 I pl -35.06 + 0.00 pl -34.99 + 0.00

- 3000

3000~ _ 3000 - 3000 -1

2000 [~ | 2000 -1 2000 -1 2000

-1 1000

10r C =28.93 [ps/ch]\, 7 1o . y 1000 .
'5'0""160'- Illlgldlllllﬂlol-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,0

A7 1 nui zuye+ud [ 25
', po 4214+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (2,54

-1 i 480e+04 / 25
4187+ 0.0
-36.3+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (2 5,8

[ C =29.02 [ps/ch]

©1nuz. Zope+u4 | 25
po 4214+ 0.0
-34.45+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,5,12

S na )1034/25
pO 4231£ 0.0
pl -34.8+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51

AT rnunLz1se+ud [ 25
o=, po 4208+ 0.0
p1 353+ 0.0

TP delay [ns]

TVC(c,b ch) (2 55

~1nui4y/e+u4 [ 25
4198+ 0.0
-36.9 + 0.0

TP delay [ns]

TVC(c,b ch) (2 59

-1 nug.Usbe+ud / 25
= po 4238+ 0.0
p1 -34.45 + 0.00

[ C =29.02 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (2,5,13

T inai zoze+ud [ 25
P 4240 0.0
-33.97+ 0.00

[ C =29.44 [ps/ch] ]

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,5,2)

K71 z4ze+04 /25
= po 4221+ 0.0
o pl -36.5+ 0.0

3000

TP delay [ns]

TVC(cbch) (2,56

T by /e+ud [ 25
- pO 4202+ 0.0
[ pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (2, 5 10

© 1 nuiLy4ge+u4 | 25
-, po 4250+ 0.0
- pl -34.94 + 0.00

TP delay [ns]

TVC(cbch) (2,514

Ty Zoe+ud /25
- pD 4246+ 0.0
L pl -34.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3

AT 1 nuiLzzae+U4 [ 25
- po 4221+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (2 57

- 1nui /ule+u4 / 25
- pO 4209+ 0.0
pL -36.06+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 5

T bbée+l}4/25
- po 4255+ 0.0
p1 -34.43+ 0.00

[ C=29.04 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (2,5,15

T inuizyle+ud [ 25
= po 4233+ 0.0
p1 -34.65+ 0.00

TP delay [ns]



TVC(cbch) (2,6,0

4000

3000

2000

1000

K™ 1nuioioe+u4 /25
- po 4198+ 0.0
pl -35.22+ 0.00

TP delay [ns]

TVC(cbch) (26,4

4000

3000

2000

1000

- i b33e+04 / 25
[oane PO 4260+ 0.0
pl -36.01+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 6, 8

4000

3000

2000

1000

T rnuiL4z3e+04 | 25
4246+ 0.0
-34.66 + 0.00

[ C =28.85 [ps/ch] ]

0

1
50 100

TP delay [ns]

TVC(cbch) (2,6,12

4000

3000

2000

1000

T rnuiLuroe+u4 / 25
4227+ 0.0
-32.83+ 0.00

[ C =30.46 [ps/ch] ™. ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

K™ rnuiLayie+ud [ 25
Fraee po 4207+ 0.0
pl -35.47+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

=1 nuiL 2upe+u4 / 25
[P, DO 4263+ 0.0
-34.79 + 0.00

[ C =28.75[ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 6,9

~ 1 nug1uze+ud / 25
- po 4265+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(cbch) (2,6,13

Tonangave+ud [ 25
pO 4230+ 0.0
pl -34.56 + 0.00

[ C =28.93 [ps/ch]

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,6,2)

A7 1 nui oyoe+u4 / 25
_l_ po 4214+ 0.0
- pl -36.03+ 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

- i 412e+04 / 25
[, po 4257+ 0.0
[ 353+ 0.0

- C = 28.33 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 6 10

T zpre+ud /25
- po 4291+ 0.0
[ pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (2,614

TrnuiLzyre+u4 [ 25
__ pD 4233+ 0.0
L pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

AT rnuiLozse+ud [ 25
F po 4220+ 0.0
pl -35.54 + 0.00

[ C=28.14 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (2 6,7

-1 nun 3yge+u4 / 25
pO 4261+ 0.0
p1 -34.75+ 0.00

[ C =28.78 [ps/ch] ]

L
50 100
TP delay [ns]

TVC(c,b ch) (2, 6

Sy /ze+u4/25
- po 4289+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(C, bch) (2,6,15

TonuiLi/1e+u4 /25
= pO 4243+ 0.0
p1 -34.76 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

X~ 1w 414e+04 /25
4199+ 0.0
-36.11 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (27,4

- i 34ze+04 [ 25
4186+ 0.0
-34.78 + 0.00

foee. pO
pl
- C =
- o
TP delay [ns]
TVC(cbch) (2, 7 8
= pD

. (92e+U4 | 25
4211+ 0.0
-35.28 + 0.00

TP delay [ns]

TVC(Cbch) (2, 7 12

e, po
p1

“inu L ple+ud [ 25
4220+ 0.0
-36.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

e, po

AT 1 nuiLb3be+u4 [ 25
4207+ 0.0
-36.57 + 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (2 7,5

~ 1 nui 440e+04 / 25
4188+ 0.0
-34.82 + 0.00

TP delay [ns]

TVC(c,b ch) (2,7,9

T nug.gole+ud / 25
4223+ 0.0
-34.66 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 7 13

T nuibyle+ud / 25
4212+ 0.0
-35.51+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (2,7,2)

. po

X~ 1 411e+u4 [ 25
4219+ 0.0
p1 -37.63+ 0.00

TP delay

TVC(cbch) (2,7,6

pD
pl

[ns]

T b r1e+u4 /25
4216+ 0.0
-35.33 + 0.00

TP delay

TVC(ebeh)=(2, 7, 10

= 90

[ns]

- i1 e +U4 | 25
4224+ 0.0
p1 -35.31 0.00

TP delay

TVC(cbch) (27,14

[ns]

-1 nui 5lve+ud [ 25
4219+ 0.0
-35.91+ 0.00

PR R R SR R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3)

e po

A~ 1 nuiL 3oye+ud [ 25
4222+ 0.0
-36.46+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 7,7

e pO
pl

“nui /ge+u4 /25
4212+ 0.0
-35.24 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2,7,

T auze+u4/25
4241% 0.0
-35.38+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7 15

- i pzoe+ud [ 25
4227+ 0.0
-36.31+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

T Lsse+ud /25
4214+ 0.0
-35.23+ 0.00

TP delay [ns]

TVC(cbch) (28,4

R
pO
pL

223e+04 | 25
4228+ 0.0
-34.61+ 0.00

[ C =28.89 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (2 8,8

pO
p1

-1 nuz yzye+ud [ 25
4231+ 0.0
-36.05+ 0.00

TP delay [ns]

TVC(cbch) (2,812

po
p1

T rnuiLg4ze+04 / 25
4265+ 0.0
-36.05+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,1)

P po

pl

x- 1L S14e+04 | 25
4230+ 0.0
-35.92:+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2 8,5

-1 nui 145e+04 / 25
4225+ 0.0
-33.8+ 0.0

[ C =29.59 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (2 8,9

pO
pl

Tinun.y4e+u4 [ 25
4238+ 0.0
-35.29 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (2, 8 13

pO

p1

- nun g 41e+04 /25
4246+ 0.0
-36.19+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,8,2)

po

pl

A~ 1 nuiL 2zyae+ud | 25
4234+ 0.0
-35.25+ 0.00

1
50 100

TP delay

TVC(cbch) (28,6

[ns]

[ po

L pL

- C =20.19 [ps/ch™, 1
_ e

T L4y /e+u4 [ 25
4244+ 0.0
-34.25+ 0.00

TP delay [ns]

TVC(eb,oh)=(2, 8, 10

F= "0

-1 261404 ] 25
4253+ 0.0
pl -34.84 % 0.00

TP delay

TVC(cbch) (2,8 14

pD
pl

[ns]

T nuiLgsze+u4 [ 25
4264+ 0.0
-36.1+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3)
A 1L 13ve+ud [ 25
fes. po 4223+ 0.0
p1 -33. 771;‘
[ C=29.62[ps/ch] ™, ]
gé e
TP delay [ns]

TVC(c,b ch) (2 8,7

-

- pO
p1

nur 1bbe+u4 / 25
4257+ 0.0
-35.48 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2, 8

pO
pl

Sy /1e+u4/25
4276+ 0.0
-35.64 + 0.00

p1

1
100

50
TP delay [ns]
TVC(c,b ch) (2, 8 15)
- i syge+u4 [ 25
o, po 4273+ 0.0
-37.4+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0)

A7 1 nun asae+04 /25
4155+ 0.0
-35.13+ 0.00

TP delay [ns]

TVC(cbch) (29,4

- i 4pbe+04 / 25
4202+ 0.0
-37.34+ 0.00

e po
pl
[ C=26.78 [ps/c ]
5(‘) 10‘0 =
TP delay [ns]
TVC(c,b ch) (2 9,8
o pD

T rnuig.zyle+u4 [ 25
4204+ 0.0
-35.44 + 0.00

p1

TP delay [ns]

TVC(cbch) (2,9,12

T L4 rse+u4 [ 25
4201+ 0.0
-36.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,1)

. PO

A1 L 0aze+Ud | 25
4170+ 0.0
-37.14+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (2 9,5

-1 nui gzbe+u4 [ 25
4206+ 0.0
-37.95+ 0.00

|_=
50 100

TP delay [ns]

TVC(c,b ch) (2 9,9

==, po

pl

T nupol1e+ud / 25
4217+ 0.0
-35.17+ 0.00

TP delay [ns]

TVC(cbch) (2,9,13

FSRALTES

e, po
p1

34e+04 /25
4197+ 0.0
-35.95+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,9,2)

b po

K™ 1nuioiae+04 /25
4177+ 0.0
-35+ 0.0

pl

TP delay

TVC(cbch) (29,6

[ns]

- i bzoe+u4 / 25
4200+ 0.0
pl -36.02 + 0.00

- pO
L C =27.76 [ps/ch .
e o
TP delay [ns]

TVC(cbch) (2, 9 10

Tz zz9e+04 | 25
4237+ 0.0
-35.2+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (2, 9

- DD
L pl

14

- rnuiLalie+ud [ 25
4207+ 0.0
-36.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3)

B po

AT 1L buse+ud [ 25
4161+ 0.0
-34.79 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 9,7

a pO
pl

=1 nui Yobe+ud / 25
4229+ 0.0
-37.95+ 0.00

50 100

TP delay [ns]

TVC(c,b ch) (2, 9

T au4e+u4/25
4234+ 0.0
-35.76 + 0.00

TP delay [ns]

TVC(C, bch) (2,9, 15

A rnan g

= po

33e+ud /25
4202+ 0.0
-36.17 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

T s/e+u4 /25
4165+ 0.0
-35.81+ 0.00

1
50 100

TP delay

TVC(cbch) (2,104

[ns]

T rnuiLal/e+ud /25
4195+ 0.0
-35.04 + 0.00

= po
pl
e -
| L -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 10 8)
- g 1oze+ud / 25
= po 4219+ 0.0
pl -36.17 + 0.00

TP delay

TVC(cbch) (2,10,12

E pO

[ns]

T rnuiLgase+u4 | 25
4238+ 0.0
pl -35.49+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

8104 /25
4167+ 0.0
-34.62 + 0.00

A

. PO

pl

TP delay [ns]

TVC(c, bch) (2,10,5

-1 nui 391e+u4 / 25
4195+ 0.0
-34.36 + 0.00

TP delay [ns]

TVC(Ebeh)=(2, 10,9

e, po

pl

-1 nui/ ybse+ud / 25
4243+ 0.0
-35.52 + 0.00

TP delay [ns]

TVC(cbch) (210,13

T nui g4ye+ud [ 25
4234+ 0.0
-36.26 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

F=. po

A7 1w L use+ud /25
4191+ 0.0
pl -36.65+ 0.00

1
50 100

TP delay

TVC(cbch) (2.10,6

- P°

[ns]

T b/ re+u4 [ 25
4228+ 0.0
pl -35.87 + 0.00

TP delay

TVC(cbch) (2,10, 10

- b

[ns]

©1nuzg18e+u4 | 25
4273+ 0.0
pl -36.46 + 0.00

TP delay

TVC(cbch) (2,10, 14

- pD

[ns]

T rs1e+u4 / 25
4235+ 0.0
pl -35.54 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2, 10 3)

i

- pO

- bz14/25
4193+ 0.0
pl -35.97 + 0.00

TP delay

TVC(c, bch) (2,10,7

E. pO

[ns]

~nuibrze+u4 [ 25
4225+ 0.0
pl -35.73+ 0.00

TP delay

TVC(eh.eh)=(2, 10, 11

= pO

[ns]

T inuzus/e+ud [ 25
4277+ 0.0
p1 -37.34+ 0.00

TP delay

TVC(cbch) (2,10,15

[ns]

T inui b4 /e+u4 /25
4230+ 0.0
-34.46 + 0.00

[ C =29.02 [ps/ch]

PR I S S |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

AT inuissre+u4 /25
.. po 4175+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (2,11,4

-1 nuiL zobe+ud / 25
e pO 4186+ 0.0
p1 -34.64+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 11,8

T 1nuz3use+u4 | 25
= po 4212+ 0.0
pl -36.49 + 0.00

TP delay [ns]

TVC(cbch) (211,12

T Lple+ud /25
= po 4232+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(Cbch) (2,11,1)

3000

2000

1000

A1 nunL4sze+ud [ 25
4000 e po 4190+ 0.0
pl -36.02:+ 0.00

TP delay [ns]

TVC(cbch) (2,11,5

4000 S

3000

2000

1000

- nun 333e+04 / 25
pO 4193 0.0
pL -35.53+ 0.00

TP delay [ns]

TVC(eh.eh)=(2, 11, 9

4000 [

3000

2000

1000

~ 1 nug.1sae+u4 / 25
po 4231+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(cbch) (211,13

4000 [

3000 -

2000

1000 [~

Tinuib13e+ud [ 25
pO 4232+ 0.0
pl -35.19+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,11, 2)

1000

AT 1nunsrse+04 /25
e po 4199+ 0.0
L pl -36.16 + 0.00

TP delay [ns]

TVC(cbch) (2,11,6

-1 nur zoge+u4 / 25
e pO 4202+ 0.0
[ pl -35.71% 0.00

TP delay [ns]

TVC(e.b.ch)=(2, 11, 10

X~ 1 nui gobe+u4 [ 25
- po 4242+ 0.0
L pl -34.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,11, 14

X~ 1 441e+04 /25
-, po 4241+ 0.0
L pl -36.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2, 11 3)

T 1se+u4 /25
- pO 4200+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (2,11,7

-1 nui 334e+04 / 25
- pO 4213+ 0.0
pL -35.67+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (2, 11 11

T nuip41e+04 / 25
= po 4228+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(cbch) (211,15

T inuiL s oe+ud [ 25
= pO 4235+ 0.0
p1 -35.66 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,12,0)

ConaiL4r1e+U4 /25
™ PO 4196+ 0.0
pl -37.08 + 0.00

TP delay [ns]

TVC(cbch) (2,124

- i 310e+u4 / 25
- pO 4219+ 0.0
pl -36.11+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2,128

< z9/e+04 /25
- PD 4201+ 0.0
pl -34.67 + 0.00

TP delay [ns]

TVC(cbch) (212,12

T inuiL4p1e+u4 / 25
- PO 4245+ 0.0
pl -36+ 0.0

TP delay [ns]

TVC(cbch) (2,12,1)

4000 & - o

pl 3

AT rmuiLorse+ud [ 25
4206+ 0.0
-38.01+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (2,125

4000 fm, pO

[ns]

- nurblie+ud / 25
4230+ 0.0
pl -36.52 + 0.00

3000

2000

1000

TP delay

TVC(c,b ch) (2, 12

4000 e

[ns]

T nuw.z48e+04 | 25
4228+ 0.0
pl -35.56 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (212,13

4000

[ns]

T inai z4ze+ud [ 25
4227+ 0.0
-34.71+ 0.00

3000

2000

1000

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,12,2)

TP delay [ns]

TVC(cbch) (2.12,6

X~ 1w L 45e+ud [ 25
- po 42174 0.0
I pl -37.27 + 0.00

3000

=1 i bube+u4 / 25
- pO 4235+ 0.0
3 pl -36.47 + 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

Tnu.zoe+u4 [ 25
- DO 42345 00
L PL_ -34.95: 0.00

TP delay [ns]

TVC(cbch) (2,12, 14

TnuiL4r9e+u4 [ 25
- PD 4242+ 0.0
F pl -35.69 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,12,3)

AT rnuiLsrve+ud [ 25
4216+ 0.0
p1 -36.45 + 0.00

po

TP delay

TVC(c, bch) (2,12,7

= pO

[ns]

=11 bBbe+u4 / 25
4266+ 0.0
pl -37.43+ 0.00

50 100
TP delay

TVC(cbch) (2, 12 1

[, pO

[ns]

-1 nuiL pbze+ud [ 25
4237+ 0.0
pl -34.99 + 0.00

TP delay

TVC(cbch) (212,15

[ns]

-1 boye+u4 [ 25
4232+ 0.0
pl -34.98 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 13 0)

- pO

pl

©rnuiL440e+04 / 25
4202+ 0.0
-36.6+ 0.0

TP delay [ns]

TVC(cbch) (2,134

- 1L BU1e+ud / 25
- pO 4238+ 0.0
p1 -39.79:+ 0.00

TP delay

TVC(cbch) (2, 13 8

[ns]

1 nuiLyuge+u4 / 25
4203+ 0.0
pl -35.86+ 0.00

TP delay

TVC(cbch) (213,12

- pO

[ns]

T 10e+ud /25
4229+ 0.0
pl -36.53+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,13,1)

= po

A1 nuiLayze+ud [ 25
4220+ 0.0
-36.34+ 0.00

pl

TP delay [ns]

TVC(c, bch) (2,135

- i grye+u4d / 25
- pO 4241+ 0.0
pL -39.28+ 0.00

TP delay [ns]

TVCEbeN)=(2, 13,9

e, po

pl

T nun.33/e+04 /25
4228+ 0.0
-34.71+ 0.00

TP delay [ns]

TVC(cbch) (213,13

e, pO
p1

- o1 43e+04 [ 25
4223+ 0.0
-35.89+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,13,2)

- po

XL 3re+ud [ 25
4210+ 0.0
pl -36.31+ 0.00

TVC(Cbch) (2,13,3)

4000 [om po

p1 3

AT rnuiLozie+ud [ 25
4224+ 0.0
-36.81+ 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (2,136

- Ly ge+ud | 25
pO 4251 0.0
pl -39.39+ 0.00

TP delay [ns]

TVC(c, bch) (2,137

-1 nuz.u3le+usd / 25
E pO 4254+ 0.0
pL -38.89+ 0.00

TP delay

TVC(cbch) (2,13,10

F= b

[ns]

©1nuzzove+ud | 25
4238+ 0.0
pl -35.27 + 0.00

TP delay

TVC(cbch) (2.13,14

- pD

[ns]

T nuiLbe3e+U4 / 25
4227+ 0.0
pl -35.79+ 0.00

TP delay

[ns]

3000

2000

1000

TP delay

TVC(ehoh)=(2, 13, 11

4000 [u.

[ns]

~ 1 nuiyzze+u4 [ 25
4239+ 0.0
-36.2+ 0.0

3000

2000

1000

50 10‘0
TP delay

TVC(cbch) (2,13, 15

X~ 1 Ly
po
p1

4000 [,

[ns]

be+u4 / 25
4228+ 0.0
-356.5+ 0.0

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 14 0)

T zs4e+04 [ 25
4173+ 0.0
-35.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,144

- 1 29pe+04 / 25
™, pO 4182+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (2, 14 8

T 1nun.us4e+u4 [ 25
= po 4226+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

TVC(cbch) (2,14,12

T rnuiLpyre+u4 [ 25
= po 4212+ 0.0
pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,14,1)

AT rnuiLsioe+ud [ 25
pese,, po 4176+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(c, bch) (2,145

- b33e+04 / 25
e pO 4211 0.0
pL -37.18 0.00

TP delay [ns]

TVC(c, bch) (2,14,9

-1 nu.ybye+ud / 25
= po 4250+ 0.0
pl -37.22+ 0.00

TP delay [ns]

TVC(cbch) (214,13

T 1 nui ozae+ud / 25
- pO 4212+ 0.0
pl -36.95+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (2,14,2)

AT 1nuissre+V4 /25
o=, po 4176+ 0.0
- pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (2.14,6

-1 nurbyye+u4 [ 25
- pO 4215+ 0.0
3 pl -36.42+ 0.00

TP delay [ns]

TVC(e b eh)=(2, 14, 10

1000

0

©1nuiz.4y3e+u4 | 25
=, po 4259+ 0.0
- pl -37.11+ 0.00

TP delay [ns]

TVC(cbch) (2.14,14

T r14e+04 / 25
-, pD 4211+ 0.0
L p1 -36.14 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,14,3)

AT 1L zove+ud [ 25
- po 4181+ 0.0
p1 -34.64+ 0.00

TP delay [ns]

TVC(c, bch) (2,14,7

-1 nui /b4e+04 / 25
- pO 4212+ 0.0
pL -35.99+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (2, 14 11

T nuig18e+u4 [ 25
- po 4263+ 0.0
p1 -37.44.+ 0.00

TP delay [ns]

TVC(cbch) (2,14,15

T nai rzoe+ud [ 25
- pO 4211+ 0.0
p1 -35.77 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,15,0)

- po

-1 5ve+ud [ 25
4173+ 0.0
pl -35.55 + 0.00

TP delay

TVC(cbch) (2,154

[ns]

-1 i bB4e+ud / 25
4189+ 0.0
-35.55+ 0.00

e, pO
pl
FC J
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 15 8)
©1nug, r49e+u4 / 25
- pO 4210 00
pl -36.56 + 0.00

TP delay

TVC(cbch) (2,15,12

==, pO

[ns]

- L p3e+ud [ 25
4218+ 0.0
pl -35.17 + 0.00

TVC(cbch) (2,15,1)

4000 e )

pl

AT 1 nuLouse+ud [ 25
4185+ 0.0
-35.43+ 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (2,155

nut

4000 o

1./e+V4/25
4186+ 0.0
-34.58 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (2,159

4000 e

~ 1 nug.ygse+ud / 25
4237+ 0.0
-35.96 + 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (215,13

4000 e

Tinui/ple+ud [ 25
4207+ 0.0
-34.77+ 0.00

3000 -

2000

1000 [~

TP delay [ns]

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,15,2)

™, po

AT 1 nui430e+04 /25
4190+ 0.0
pl -35.47 + 0.00

TP delay

TVC(cbch) (2,156

pO
pl

[ns]

=1 i bbge+u4 / 25
4199+ 0.0
-35.75+ 0.00

TP delay

TVC(cbch) (2, 15 10

1000

0

- DO

[ns]

© 1 nuig.zuge+u4 | 25
4265+ 0.0
pl -37.28 + 0.00

TP delay

TVC(cbch) (2,15, 14

- PD

[ns]

T L psse+ud / 25
4223+ 0.0
pl -35.29 + 0.00

TVC(cbch) (2,15,3)

AT Lore+ud [ 25
4196+ 0.0
pl -35.51+ 0.00

4000 (e

po

3000

2000

1000

TP delay

TVC(c, bch) (2,157

2000 pO

pl

[ns]

=1 nui yyve+u4 / 25
4211+ 0.0
-35.96 + 0.00

3000 -

2000

1000 [~ C

50 1(;0
TP delay

TVC(ehch)=(2, 15, 11

4000 o pO

[ns]

T nuiz1u3e+u4 / 25
4237+ 0.0
pl -35.44 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (2,15,15

4000 o pO

[ns]

T 4yze+u4 [ 25
4211+ 0.0
pl -33.18 + 0.00

3000 -

2000

101 C = 30.14 [ps/ch] ™.,

TP delay [ns]

P TR |
50 100

TP delay [ns]



TVC(cbch) (3,0,0)

4000 &

3000 -

2000~

1000 -

po

pl

A7 1 nui oose+ud / 25
4202+ 0.0
-37.97 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (3,0,4

4000

3000 -

2000 [~

1000 [~

pO
pL

T rnuLy13e+ud / 24
4214+ 0.0
-37.49 + 0.00

50 100
TP delay [ns]

TVC(cbch) (3 0,8

4000 [,

3000

2000

1000

0

T rnuig.uLoe+U4 / 24
po 4167+ 0.0
pl -33.92+ 0.00

0

TP delay [ns]

TVC(cbch) (3,0,12

4000 [

3000

2000

1000

T rnuiLgole+u4 / 24
pO 4239+ 0.0
pl -35.57 + 0.00

PR ISR SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1)

F. po

pl

AT 1 nuiLoyse+ud [ 25
4173+ 0.0
-36.53+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3 0,5

“nu 1zoe+04 / 24
4206+ 0.0
-36.6 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 0,9

Tinuy.zyle+ud [ 24
po 4209+ 0.0
p1 -34.62+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, O 13

TinuiLgs/e+ud [ 24
pO 4222+ 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,0,2)

po

pl

K™ 1 nuingze+04 /25
4191+ 0.0
-37.04 + 0.00

1000

50 100
TP delay [ns]
TVC(cbch) (3 0,6)
T nuz1u1e+u4 / 24
-, pO 4229+ 0.0
pl -37.94+ 0.00

TP delay [ns]

TVC(cbch) (3, 0 10

T rnuiLy4ze+u4 [ 24
= po 4200+ 0.0
L pl -33.98 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,0,14

T gzse+u4 [ 24
. pD 4232+ 0.0
L pl -36.05+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3)

e po

AT 1 nuiLbrae+u4 | 25
4200+ 0.0
-37.04+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 0,7

pO
pl

S nu341e+04 / 24
4236+ 0.0
-37.87 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, O

T, 114e+u4124
- 4208+ 0.0
-34.7+ 0.0

TP delay [ns]

TVC(c,b ch) (3, O 15

Tinai ysze+ud [ 24
= po 4216+ 0.0
p1 -34.62 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,1,0)

A” 1L r40e+04 [ 24
4178+ 0.0
-37.05+ 0.00

TP delay [ns]

TVC(cbch) (31,4

pO
pL

- rnuiLy1ve+ud / 24
4199+ 0.0
-36+ 0.0

1
100

TP delay [ns]

TVC(cbch) (3 1,8

B pD

T zoge+u4 | 24
4189+ 0.0
-35.31+ 0.00

p1

1
100

TP delay [ns]

TVC(cbch) (31,12

T z1e+04 /24
= po 4212+ 0.0
pl -34.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1)

F po

pl

X- 1 L baserud | 24
4186 + 0.0
-36.88+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

- nui B13e+u4 [ 24
4188+ 0.0
-35.39 % 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (3 1,9

E pO

T nu B3e+u4 24
4195+ 0.0
-36.08 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, l 13

Tinuigole+ud [ 24
= pO 4220+ 0.0
pl -36.62+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

0

4000

2000

1000

A"

po
pl

TVC(cbch) (3,1,2)

1 1ie+ud [ 24
4178+ 0.0
-36.12+ 0.00

1
100

TP delay [ns]

pD
pl

TVC(cbch) (3,1,6

- rnuz,0zze+V4 [ 24
4206+ 0.0
-36.14 + 0.00

1
100

TP delay [ns]

pO

pl

TVC(cbch) (3, 1 10

Tz, ryoe+ud | 24
4194+ 0.0
-34.89 + 0.00

1
100

TP delay [ns]

TVC(cbch) (31,14

~ 1L psYe+u4 [ 24
= pD 4207+ 0.0
L p1 -35.59+ 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3)

A,

o po
pL

rzve+u4 | 24
4200+ 0.0
-36.07 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

e pO
pl

- nu 1u3e+u4 / 24
4217+ 0.0
-36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (3, l

T 9/4e+u4/24
4212+ 0.0
-36.16 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 1 15

T inai s3ae+ud [ 24
- pO 4217+ 0.0
p1 -35.18+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,2,0

X~ 1 i 5ube+U4 [ 24
™, Y 4167+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(cbch) (3,24

© i rp4e+ud [ 24
4176+ 0.0
-35.5+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (3 2,8

Tz 1g/e+u4 /24
- PD 4219+ 0.0
pl -35.57 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,212

T psye+ud / 24
F= pO 4224+ 0.0
pl -35.39 + 0.00

PR ISR SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,1

AT 1 nuiLboze+ud [ 24
™ po 4188+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

“nun1.84e+04 [ 24
- DU 4201+ 0.0
pL -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,9

T nu, ro3e+u4 / 24
- DO 4233+ 0.0
pl -36.32 + 0.00

TP delay [ns]

TVC(cbch) (3,213

T inai ruse+ud [ 24
- PO 4225+ 0.0
pl -35.7+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,2,2)

X~ 1w bose+U4 [ 24
™, po 4194 0.0
I pl -37.37+ 0.00

3000

TP delay [ns]

TVC(cbch) (32,6

©rnunLyl1e+ud [ 24
- PO 4200+ 0.0
r pl -36.31+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 2 10

T, (ple+ud [ 24
- DO 4273+ 0.0
I pl -38.08 + 0.00

3000

50 100

TP delay [ns]

TVC(cbch) (3,214

TanuaiLbze+ud [ 24
= PD 4218+ 0.0
I pl -35.27 + 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3

A~ 1 Ui obae+ud [ 24
- po 4194+ 0.0
pl -37.09 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,7

- nui g31e+u4 / 24
= PO 4205+ 0.0
pL -35.73+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 2

o u1=e+u4/24
- pO 4266+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(C, bch) (3,215

Tinuip4/e+ud [ 24
PO 4233+ 0.0
-35.24+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,3,0

A7 1nun zose+ud [ 24
', po 4186+ 0.0
p1 -35.66 + 0.00

TP delay [ns]

TVC(cbch) (33,4

- i zoge+ud [ 24
pO 4208+ 0.0
p1 -34.19+ 0.00

TP delay [ns]

TVC(cbch) (3 3,8

Tz 140e+04 [ 24
po 4210+ 0.0
pl -35.18 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,312

T ryse+u4 | 24
pO 4230+ 0.0
pl -35.81+ 0.00

P RS R B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
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4234+ 0.0
pl -35.07 + 0.00

TP delay

PR SR T
50 100

[ns]
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4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,10, 3)

e po

AT rnuaiLsoze+ud [ 24
4217+ 0.0
-35.9+ 0.0

p1

TP delay

TVC(c,b Ch) (3, 10 7

E. pO

[ns]

S nun /31e+04 / 24
4230+ 0.0
pl -37.82+ 0.00

50 100
TP delay

TVC(cbch) (3, 10 11

= pO

[ns]

TinuiLyy/e+ud [ 24
4272+ 0.0
pl -35.85+ 0.00

TP delay

TVC(cbch) (3, 10 15

[ns]

Tinuioy/e+ud [ 24
4222+ 0.0
p1 -35.45 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (3,11,0)

A7 1 nuiLqo0e+04 / 24
4184+ 0.0
p1 -36.65+ 0.00

TP delay

TVC(cbch) (3, 11 4

[ns]

~ 1 nuiLag5e+04 / 24
4167+ 0.0
-35.19+ 0.00

= pO
p1
FC -1
| 1 -
50 100
TP delay [ns]
TVC(e.heh)=(3, 11, 8)
T nug.3u4e+u4 [ 24
= po 4235+ 0.0
pl -36.37 + 0.00

TP delay

TVC(c,b Ch) (3 11,12

[ns]

X1 1uze+ud [ 24
po 4215+ 0.0
pl -35.31+ 0.00

TP delay

PR ISR SR B
50 100

[ns]
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3000

2000

1000

4000 k5,

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(CbCh) (3,11,1)

e, po

x- 1 Lol rerud | 24
4189+ 0.0
pL -35.59+ 0.00

1
0

TP delay [ns]

TVC(c,b Ch) (3, 11 5

T i bale+ud [ 24
4173+ 0.0
pl -33.25+ 0.00

1
0

TP delay [ns]

TVC(eh.eh)=(3, 11, 9

- pO

pl

<1 nui/ ybse+ud 24
4250+ 0.0
-36.31+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 11 13)

s g

pO

- sye+ud | 24
4200+ 0.0
pl -34.99 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000 [,
3000

2000

4000 =,
3000
2000

1000

1000

0

TVC(CbCh) (3, 11 2)

=3 pO

© L osve+u4 [ 24
4187+ 0.0
p1 -36.24 + 0.00

TP delay

TVC(chh) (3, 11 6

pD
pl

[ns]

T nuiL4/5e+04 | 24
4197+ 0.0
-34.93 + 0.00

TP delay

TVC(cbch) (3,11, 10

[ns]

X~ 1wz 18ze+04 [ 24
po 4242+ 0.0
pl -34.52 + 0.00

TP delay

TVC(c,b Ch) (3,11, 14

[ns]

X~ 1L 4upe+U4 [ 24
po 4194+ 0.0
p1 -345+ 0.0

TP delay

[ns]
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1000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,11,3)

o po

AT rnuiLobre+ud [ 24
4192+ 0.0
p1 -35.84 + 0.00

TP delay

TVC(CbCh) (3, 11 7

= pO

[ns]

-1 nui byae+ud [ 24
4182+ 0.0
pl -34.39 % 0.00

TP delay

TVC(Ebeh=(3, 11, 11

pO

[ns]

T onui gyse+ud / 24
4264+ 0.0
pl -36.64 + 0.00

TP delay

TVC(c,b Ch) (3, 11 15

[ns]

T nai szee+ud [ 24
4204+ 0.0
-35.01+ 0.00

TP delay

[ns]



TVC(ehet)=(4,0,0) TVC(Ebe)=(4,0,1) TVC(ehet)=(4,0,2) TVC(ebe)=(4,0,3)
A1 418e+04 /25 AT 330e+ud [ 25 AT 1L zg/e+04 [ 25 A~ 1 3aze+Ud | 25
4000, po 4206+ 0.0 4000, po 4207+ 0.0 4000 f=, po 4217+ 0.0 4000 fe po 4225+ 0.0
pL -36.3+ 0.0 pl_ -35.99+ 0.00 [ pl -35.8+ 0.0 Pl -35.65: 0.00

3000

N 3000 =1 3000 - - 3000 -

2000 -1 2000 -1 2000 |- - 2000

1000 — 1000 - 1000 u 1000

50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (4,0,4) TVC(cbch) (4,0,5) TVC(cbch) (4,0,6) TVC(cbch) (4,0,7)
- i za9e+04 [ 25 -1 nui 348e+04 / 25 T rnuiL4/3e+04 [ 25 -1 nui 4p9e+04 / 25
ao00pm pO 4222+ 0.0 4000 frn pO 4236+ 0.0 4000 fem, pO 4246+ 0.0 4000 fo, pO 4245+ 0.0
Pl 3576+ 0.00 -36.7+ 0.0 L pl -36.18+ 0.00 Pl -36.37+0.00
3000 [ - 3000 E 3000 ] 3000 -
2000 ] 2000 E 2000 — — 2000 B
1000 C 4 1000 N woo- C = 27.64 [pS/Ch 7 1000F C 7]
1 1 " 1 1 - 1 1 "= 1 1 -
50 100 50 00 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eb,ch)=(4,0,8) TVC(eb,ch)=(4,0,9) TVC(eb,oh)=(4, 0, 10) TVC(e.heh)=(4, 0, 11)
T i fple+u4 / 25 ~ b, ygse+u4 [ 25 Tnuzpr1e+u4 /25 -1 goge+u4 / 25
4000 [, pO 4230+ 0.0 4000 fme pO 4259+ 0.0 4000 fome, DO 4257+ 0.0 4000 [ p0 4268+ 0.0
pl -36.61 0.00 pL -36.91+ 0.00 L pl 3519+ 0.00 Pl -36.20% 0.00

3000 B 3000 — 3000 4 3000 E

2000 -1 2000

2000 ] 2000

1000 -1 1000 1000 - 1000

0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (4,0,12) TVC(cbch) (4,0,13) TVC(cbch) (4,0,14) TVC(cbch) (4,0,15)
T nug, 1yoe+ud / 25 T g 13se+u4 [ 25 Tnung1se+u4 /25 T g, 144e+04 [ 25
4000 e pO 4232+ 0.0 4000 [ pO 42312 0.0 4000 [, PD 4227+ 0.0 4000 [, pO 4236 00
pl -35.43+ 0.00 pl -35.73+ 0.00 r pl -35.64 + 0.00 pl -35.48 + 0.00

3000 -1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 -1 2000

1000 -1 1000 1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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1000

TVC(cbch) (4,1,0

X~ 1w zive+U4 [ 25
e, Y 4206+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(cbch) (4.1,4

- 1L Ooze+ud / 25
4195+ 0.0
-345+ 0.0

50 10‘0
TP delay [ns]

TVC(eb,oh)=(4, 1,8

~ 1 nuiLpule+u4 / 25
- pO 4234+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(cbch) (41,12

I C =29.44 [psich]

- 151e+0d /25
- PO 4213+ 0.0
pl -33.96 + 0.00

PR B SRS |
50 100

TP delay [ns]
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1000
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,1

AT nuiL1B3e+u4 [ 25
v, PO 4200+ 0.0
p1 -35.22+ 0.00

55 T
TP delay [ns]
TVC(cbch) (4 1,5) -
~ i 15Ye+04 / 25
- azosx‘
-33.8+ 0.0
L]
[C=29.59 [ps/ch] ™, ]
% i
TP delay [ns]

TVC(c,b ch) (4 1,9

~ 1 nuw BZoe+u4 25
DO 4245+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (41,13

[ C =28.93 [ps/ch]

S rna131e+0d /25
PO 4229+ 0.0
pl -34.57 + 0.00

PR U S S |
50 100

TP delay [ns]
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1000
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1000
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1000

TVC(cbch) (4,1,2)

X~ 1w s10e+U4 /25
po 4226+ 0.0
pl -36.43 + 0.00

TP delay [ns]

TVC(cbch) (41,6

- C = 30.75 [ps/ch] ™. 1

“ a1 ge+u4 [ 25
pO 4204+ 0.0
pl -32.53+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(4, 1, 10

T nugusze+ud | 25
DO 4255+ 0.0
pl -35.03 + 0.00

TP delay [ns]

TVC(cbch) (41,14

- C = 29.47 [ps/ch]

T nuiLus4e+u4 [ 25
PD 4211+ 0.0
-33.93 + 0.00

PR IR SRR |
50 100

TP delay [ns]
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1000
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1000

TVC(cbch) (4,1,3)

AT 1 nuiLU/be+U4 [ 25
PO 4221+ 0.0
p1 -35.42+ 0.00

TP delay [ns]

TVC(c,b ch) (4 1,7

-1 nui 3u4e+04 / 25
PO 4207+ 0.0
pL -32.82+ 0.00

TVC(c,b ch) (4, 1

[ C=30.47 [ps/ch] ™_ 7]
TP delay [ns]

1)
T nai r3Ye+u4 [ 25
pO 4251% 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(C, bch) (41,15

[ C =29.04 [ps/ch] ]

T nai zsze+ud [ 25
4215+ 0.0
-34.44+ 0.00

PR I S S |
50 100

TP delay [ns]
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1000
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1000

TVC(cbch) (4,2,0

AT 1nuiz1ye+u4 /25
pee,. po 4180+ 0.0
pl -36.19+ 0.00

TP delay [ns]

TVC(cbch) (4,24

= 1L buze+ud [ 25
- pO 4203+ 0.0
pl -36.37:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (42,8

T, r42e+04 | 25
= po 4199+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (4,212

~ L pyze+u4 | 25
= po 4222+ 0.0
pl -36.87 + 0.00

PR B SRS |
50 100

TP delay [ns]
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1000
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3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (4,2,1)

AT 1 nunLszoe+ud [ 25
po 4180+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (4 2,5

-1 nui bgye+u4 / 25
pO 4197 0.0
pL -35.68+ 0.00

TP delay [ns]

TVC(c,b ch) (4 2,9

T nup.120e+U4 / 25
po 4232+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (4,213

T inuisige+ud [ 25
pO 4208+ 0.0
pl -36.09 + 0.00

TP delay [ns]
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1000

4000

2000

4000

2000

TVC(cbch) (4,2,2)

A7 1 nui Sooe+u4 / 25
o=, po 4189+ 0.0
L p1 -36.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,2,6

© i, 734e+04 [ 25
- pO 4209+ 0.0
[ pl -36.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,2,10

1000

T nuz 3o /e+u4 [ 25
= po 4243+ 0.0
o pl -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,2 14

1000

T groe+u4 [ 25
= pD 42141 0.0
+ pl -35.96 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,2,3

4000 [,

3000

2000

1000

AT rnunL4sie+ud [ 25
oes, po 4206+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (4 2,7

4000 (R

3000

2000

1000 [~

-1 nui buye+u4 / 25
pO 4218+ 0.0
pL -35.97+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, 2

4000

3000

2000

1000

AN uzze+u4/25
4247+ 0.0
-36.2+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (4,215

4000 [,

3000

2000

1000

Tinuin3/e+ud [ 25
pO 4208+ 0.0
p1 -35.3+ 0.0

TP delay [ns]
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1000
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3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,3,0

X~y 15re+U4 /25
P, po 4173+ 0.0
pl -35.03+ 0.00

TP delay [ns]

TVC(cbch) (43,4

- 1b1e+04 [ 25
P, pO 4186+ 0.0
pl -36.17 £ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 3,8

T g rye+ud /25
= po 4218+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (4,312

rnue ) se+ud /25
4231+ 0.0
-36.9 + 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000
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1000

TVC(cbch) (4,31

A” 1 nug.uuoe+ud [ 25
=N po 4171% 0.0
pl -35.38 + 0.00

TP delay [ns]

TVC(c,b ch) (4 3,5

~ 1 nui 7y4e+04 [ 25
e, pO 4191% 0.0
pL -36.76+ 0.00

TP delay [ns]

TVC(c,b ch) (4 3,9

T nuy, r38e+U4 / 25
4227+ 0.0
-36.6 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (4,3,13

T inui gse+ud [ 25
= pO 4219+ 0.0
p1 -36.8+ 0.0

TP delay [ns]
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1000

4000

2000

4000

2000

4000

2000

1000

TVC(cbch) (4,3,2)

X~ 1wy, 1use+U4 [ 25
i po 4193+ 0.0
[ p1 -36.35+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,3,6

1000

- i b3ve+u4 / 25
- pO 4223+ 0.0
[ pl -37.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 3 10

1000

0

© a2 guse+u4 | 25
= po 4238+ 0.0
[ p1 -37.04+ 0,00

3000

TP delay [ns]

TVC(cbch) (4,3 14

~1nuiLyu4e+u4 [ 25
- pD 4226+ 0.0
[ p1 -37.25+ 0.00

3000

TP delay [ns]
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TVC(cbch) (4,3,3

AT rnug.o1be+ud /25
- po 4191+ 0.0
p1 -34.68 + 0.00

TP delay [ns]

TVC(c,b ch) (4 3,7

-1 nun g1ye+u4 / 25
- pO 4214+ 0.0
pL -35.92:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, 3

Ty uue+u4/25
- pO 4248+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(C, bch) (43,15

T nui gbve+ud / 25
= pO 4235+ 0.0
p1 -37.15+ 0.00

TP delay [ns]
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1000

0
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1000

TVC(cbch) (4,4,0

A7 1 nui buse+u4 /25
P po 4173+ 0.0
pl -35.59+ 0.00

TP delay [ns]

TVC(cbch) (44,4

Srnu 1se+ud 25
== po 4202+ 0.0
pl -36.88 + 0.00

TP delay [ns]

TVC(eb,ch)=(4, 4,8

Tz zzoe+04 | 25
- po 4237+ 0.0
p1 -37.64 + 0.00

TP delay [ns]

TVC(cbch) (44,12

©rnuiLgu4e+u4 / 25
= po 4216+ 0.0
pl -34.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
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1000

4000

3000

2000

1000

TVC(cbch) (4,4,1

A” 1 nuiLobye+ud [ 25
oo, po 4172+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (4 4,5

= 1 nuiL bbde+ud / 25
== po 4216+ 0.0
pl -37.76 + 0.00

TP delay [ns]

TVC(c,b ch) (4 4,9

T nu szbe+u4 [ 25
- pO 4251+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (44,13

Tinai31e+u4 /25
= pO 4229+ 0.0
pl -35.46 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (4,4,2)

A7 1 nui osoe+u4 / 25
__- po 4199+ 0.0
L pl -35.64 + 0.00

TP delay [ns]

TVC(cbch) (44,6

T 5 /e+04 [ 25
- pO 4216+ 0.0
[ pl -37.66 + 0.00

TP delay [ns]

TVC(cbch) (44,10

1 nuiz.498e+04 | 25
-, po 4258+ 0.0
- pl -36.18 + 0.00

TP delay [ns]

TVC(cbch) (4,4,14

T 1nuiLby1e+u4 / 25
. pD 4221+ 0.0
L pl -34.47 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (4,4,3)

AT 1L sbze+u4 [ 25
e, po 4205+ 0.0
pl -36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (4 4,7

=1 nui Boye+u4 / 25
- pO 4213+ 0.0
pl -36.73+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, 4

1)
-1 nuiz.uyye+ud / 25
- po 4265+ 0.0
p1 -37.45 + 0.00

TP delay [ns]

TVC(C, bch) (44,15

-1 nui poye+ud / 25
- po 4220+ 0.0
p1 -35.14+ 0.00

TP delay [ns]
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1000
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3000

2000

1000

TVC(cbch) (4,5,0)

K™ 1nuitore+ud /25
4184+ 0.0
-36.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,54

- Ui Z96e+04 [ 25
== po 4187+ 0.0
pl -36.73+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 5,8

©1nug puse+u4 / 25
= po 4239+ 0.0
pl -37.32+ 0.00

TP delay [ns]

TVC(cbch) (4,5,12

~ 1L suse+u4 / 25
= po 4229+ 0.0
pl -35.23+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (4,51

AT 1 nuiLsyoe+ud [ 25
- po 4192+ 0.0
pl -37.85+ 0.00

TP delay [ns]

TVC(c,b ch) (4 55

1 nuiLZaze+ud | 25
== po 4192+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (4 59

- nui 1gae+u4 25
- pO 4264+ 0.0
p1 -37.34+ 0.00

TP delay [ns]

TVC(cbch) (4,5,13

Tonan L Sse+ud [ 25
= pO 4228+ 0.0
pl -34.63+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (4,5,2)

K™ 1nuiiroe+04 /25
= po 4204+ 0.0
L pl -36.86 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,56

T b r1e+u4 / 25
- pO 4203+ 0.0
[ pl -36.14 + 0.00

3000

TP delay [ns]

TVC(cbch) (4, 5 10

0

©nuzb3pe+u4 [ 25
-, po 4270+ 0.0
- pl -36.99 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,5,14

T 1nuiLplae+ud [ 25
. pD 4240+ 0.0
L pl -35.87 + 0.00

3000

TP delay [ns]
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1000

TVC(cbch) (4,5,3)

AT 1 nuiL 1sye+ud [ 25
poee, po 4209+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (4 57

-1 nui ggbe+u4d / 25
- pO 4207+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 5

AN utme+u4/25
- po 4266+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(C, bch) (4,5,15

T 1nui bzse+ud [ 25
= pO 4230+ 0.0
p1 -34.89+ 0.00

TP delay [ns]
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TVC(cbch) (4,6,0

AT nun ssre+u4 /25
. po 4182+ 0.0
pl -37.56 + 0.00

1
50 100
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- pl -36.85+ 0.00

TP delay [ns]

TVC(cbch) (5,11, 14

X~ 1L p14e+04 [ 25
__ po 4246+ 0.0
L pl -35.94+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11,3)

po

AT 1L syoe+ud [ 25
4203+ 0.0
pl -35.79+ 0.00

TP delay

TVC(cbch) (511,7

feme pO
pl

[ns]

-1 nuz.uaye+us / 25
4227+ 0.0
-35.92+ 0.00

50 1(;0
TP delay

TVC(cbch) (511,11

= pO

[ns]

<1 nui ggoe+u4 / 25
4263+ 0.0
pl -35.94 + 0.00

TP delay

TVC(cbch) (5,11, 15

[ns]

)

T nan g oge+ud [ 25
4236+ 0.0
p1 -35.77 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 12 0)

~rnuiLg4oue+U4 / 25
Frcea pO 4200+ 0.0
-34.28 + 0.00

[ C =29.17 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.12,4

-1 i 380e+04 / 25
- pO 4207+ 0.0
p1 -34.65+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 12 8

1 nuiLyoze+u4 | 25
- po 4228+ 0.0
p1 -34.79 + 0.00

TP delay [ns]

TVC(cbch) (5,12, 12

T L pase+ud / 25
= po 4217+ 0.0
-34.02+ 0.00

I C =29.39 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,12,1)

ase po

pl

AT 1 nuiLiyoe+ud [ 25
4203+ 0.0
-34.93+ 0.00

1 1
50 100

TP delay [ns]

TVC(cbch) (5,125

-1 nui 498e+04 / 25
4221+ 0.0
-35.07 + 0.00

TP delay [ns]

TVCEDeN)=(5, 12,9

-1 nuiy ypye+ud 25
4229+ 0.0
-33.53 + 0.00

[ C =29.83 [ps/ch] ™.

1
50 100

TP delay [ns]

TVC(cbch) (512,13

= po

~inai ule+ud / 25
4213+ 0.0
-34.73+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,12,2)

TP delay [ns]

TVC(cbch) (5.12,6

A llu11¢/e+u4/25
P, po 4226+ 0.0
- pl -36.22+ 0.00

3000

-1 nuiL49pe+04 / 25
- pO 4225+ 0.0
[ 357+ 0.0

TP delay [ns]

TVC(cbch) (5, 12 10

©1nuzgzoe+u4 | 25
po 4262+ 0.0
p1 -34.35+ 0.00

- C = 29.11 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (5.12, 14

TrnuiLpL/e+u4 [ 25
- pD 4219+ 0.0
L pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,12,3)

AT 1 nuiLbase+u4 | 25
4223+ 0.0
pl -36.32+ 0.00

po

TP delay

TVC(c, bch) (5,127

- pO

[ns]

S i/ rve+u4 [ 25
4240+ 0.0
pl -35.26 + 0.00

TP delay

TVC(eheh)=(5, 12, 11

= pO

[ns]

T nuiz.ug/e+ud [ 25
4254+ 0.0
-34.2+ 0.0

[ C=29.24 [ps/ch]

1
50 100

TP delay

TVC(cbch) (5.12,15

e, po

[ns]

-1 nuiL byoe+ud / 25
4222+ 0.0
p1 -34.66 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 13 0)

T szve+u4 [ 25
pO 4204+ 0.0
pl -35.78+ 0.00

TP delay [ns]

TVC(cbch) (5.13,4

T rye+ud [ 25
pO 4213+ 0.0
pl -36.38:+ 0.00

e ]
% T
TP delay [ns]
TVC(c,b, ch) (5, 13 8

T rnuzp3le+ud [ 25
PD 4232+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(cbch) (513,12

T rnuiLy1se+u4 / 25
pO 4238+ 0.0
pl -35.82+ 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,13,1)

AT 1L r4e+U4 [ 25
po 4212+ 0.0
pl -35.83+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (5.13,5

-1 nui by3e+ud / 25
pO 4233+ 0.0
pL -36.57+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 13

~ 1 nuw.z45e+04 [ 25
po 4245+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(cbch) (513,13

Tonan g /4e+u4 [ 25
pO 4233+ 0.0
pl -35.47 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (5,13,2)

AT nun g r4e+u4 [ 25
po 4200+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(cbch) (5.13,6

1 nuiL44pe+04 | 25
pO 4205+ 0.0
pl -34.99 + 0.00

10‘0
TP delay [ns]

TVC(cbch) (5, 13 10

T 1nug zz8e+04 | 25
po 4279+ 0.0
-37.31% 0.00

1
100

TP delay [ns]

TVC(cbch) (5.13, 14

T rnuiLg1ze+u4 [ 25
pD 4243+ 0.0
pl -35.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

C =29.11 [ps/ch]

AT 1 nuzuole+ud [ 25
po 4201+ 0.0
p1 -34.35+ 0.00

L
50

100

TP delay [ns]

TVC(c, bch) (5,137

-1 nui BU3e+u4 / 25
pO 4217+ 0.0
pL -35.57+ 0.00

1(;0
TP delay [ns]

TVC(cbch) (5, 13 1

T nuiz. fuse+u4 / 25
pO 4270+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (513,15

T nai uze+ud [ 25
po 4247+ 0.0
p1 -36.28 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

1 nu zs3e+ud [ 25

pO 4206 + 0.0
p1 -35.94+ 0.00

TP delay [ns]

TVC(Cbch) (5, 14 4

- i slie+ud / 25
Fause po 4206+ 0.0
pl -35.91+ 0.00

50 5
TP delay [ns]

TVC(cbch) (5, 14 8

- i yioe+ud | 25
- pD 4211+ 0.0
p1 -35.46+ 0.00

TP delay [ns]

TVC(Cbch) (5, 14 12

T, z3e+u4 | 25
= po 4242+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(chh) (5, 14 1)

4000 pO

pl

-1 34ve+ud [ 25
4201+ 0.0
-35.95+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b Ch) (5, 14 5

EURtES
400057 pO
p1

28e+u4 | 25
4197+ 0.0
-35.88 + 0.00

3000 -

2000

1000 [~ C

1
50 00

TP delay [ns]

TVC(c, bch) (5,14,9

X~ p,

4000 [

po
pl

b3e+u4 / 25
4232+ 0.0
-35.47+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (5, 14 13

4000 -, PO

T nui osye+ud / 25
4247+ 0.0
-36.63+ 0.00

3000

2000

1000

TP delay [ns]

TVC(CbCh) (5,14,2)

4000 po

pl

3000~

2000 -

wol- C = 28.21 [ps/ch

X~ 1L 33ze+04 [ 25
4226+ 0.0
-35.45+ 0.00

1
50 100

TP delay

TVC(Cbch) (5, 14 6

4000 [, pO

[ns]

-1 nuiLz94e+04 [ 25
4226+ 0.0
pl -36.26 + 0.00

3000~

2000~

1000:— C=2758 [pS/Ch

TP delay

TVC(e,b,ch)=(5, 14, 10

© 1 nuiz.4s4e+04 | 25
4252+ 0.0
p1 -35.49 % 0.00

4000 [

pO

[ns]

3000
2000

1000

TP delay

TVC(CbCh) (5, 14 14

4000

[ns]

- i syre+u4 [ 25
4227+ 0.0
-35.31+ 0.00

3000

2000

1000

P PR TR |
50 100

TP delay

[ns]
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2000

1000

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,14,3)

A~ 1 nuiL s8be+u4d [ 25
4231£ 0.0
pL -36.59+ 0.00

po

TP delay

TVC(c,b Ch) (5, 14 7

= pO

[ns]

- i 31ze+04 / 25
4213+ 0.0
p1 -35.22:+ 0.00

TP delay

TVC(e.beh)=(5, 14, 11

= pO

[ns]

T nuiLyg/e+ud [ 25
4258+ 0.0
pl -35.87 + 0.00

TP delay

TVC(cbch) (5, 14 15

[ns]

T nai ruoe+ud / 25
4237+ 0.0
p1 -35.76 + 0.00

TP delay

[ns]



TVC(CbCh) (5, 15 0)

4000 iy pO

© L, rope+u4 [ 25
4244+ 0.0
-34.71+ 0.00

3000 -

2000

woor C = 28.81 [ps/ch]

1
50 100

TP delay

TVC(Cbch) (5, 15 4

4000 &

[ns]

-1z 14ze+04 [ 25
4212+ 0.0
-36.29 + 0.00

e, PO
pL
3000 [~ ]
2000 = 7
1000 C 7
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (5, 15 8)
© 1 nuz,Quse+u4 / 25
4000 [ 4223+ 0.0
p1 -37.16 + 0.00

3000

2000

1000

0

TP delay

TVC(Cbch) (5, 15 12

4000 o, po

[ns]

- i, (yge+u4 [ 25
4258+ 0.0
pl -36.15+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

4229+ 0.0
-34.11 + 0.00

X 1L,
b po

pl

13ve+U4 [ 25

[ C =29.32 [ps/ch]

L

1
50 100

TP delay [ns]

TVC(e.beh)=(5, 15,5

war

p0
pl

ze+04 /25
4220+ 0.0
-36.89 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

-1y 3b4e+04 [ 25
4234+ 0.0
-35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 15 13

T inai rsYe+ud [ 25
4272+ 0.0
-36.62+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

1000

TVC(CbCh) (5,15,2)

[ oase po

X~ 1L 50e+04 [ 25
4254+ 0.0
p1 -36.43+ 0.00

TP delay

TVC(Cbch) (5, 15 6

pO
p1

[ns]

T nu20/e+04 | 25
4226+ 0.0
-36.67 + 0.00

TP delay

TVC(e,b,ch)=(5, 15, 10

= o

[ns]

- i zz4e+04 | 25
4254+ 0.0
p1 -35.64 + 0.00

TP delay

TVC(CbCh) (5, 15 14

pD
pl

[ns]

= 1 nui pode+u4 [ 25
4268+ 0.0
-36+ 0.0

TP delay

[ns]
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1000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

po
pL

A~ 1 nuiz,103e+U4 [ 25
4266+ 0.0
-35.25+ 0.00

TP delay

TVC(c,b Ch) (5, 15 7

o, pO

[ns]

- nu 118e+u4 [ 25
4233+ 0.0
p1 -36.01% 0.00

50 160
TP delay

TVC(e.beh)=(5, 15, 11

= pO

[ns]

-1 nuizy1be+ud [ 25
4264+ 0.0
p1 -36.12+ 0.00

TP delay

TVC(cbch) (5, 15 15

[ns]

- sae+u4 [ 25
4254+ 0.0
p1 -35.38 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

A~ 1nui 71ae+04 [ 25
e po 4149+ 0.0
-33.91+ 0.00

[ C =29.49 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6,0,4

IIuZ80/e+U4 [ 25
Faue po 4169 0.0
pl -33.87 + 0.00

[ C =29.53 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 0,8

/g, fyse+04 1 25
P pD 4175+ 00
Pl 3583000

TP delay [ns]

TVC(cbch) (6,0,12

©1nuiz.4use+ud | 25
= po 4206+ 0.0
pl -35.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,01

AT rnuiLBr1e+u4 /25
F.. po 4164+ 0.0
p1 -35.37 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

= num.20/e+0d [ 25
Focse po 4179+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

~ 1 nuiL 193e+u5 / 25
E po 4195+ 0.0
p1 -36.43 £ 0.00

TP delay [ns]

TVC(c,b Ch) (6, O 13

Tonaz.31e+u4 /25
P pO 4201+ 0.0
p1 -35.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.76 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

X~ 1 nuiz.Quze+u4 [ 25
Foee po 4169+ 0.0
[ p1 -34.78+ 0.00

- 1nuig.498e+04 [ 25
F.. pO 4196+ 0.0
X pl -35.63+ 0.00

TP delay [ns]

TVC(eb,ch)=(6, 0, 10

- i U5 re+0d [ 25
3 pO 4214 0.0
L pl -35.74+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

- 1 iz soYe+u4 [ 25
F. pD 4197+ 0.0
[ p1 -35.02 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

A 1 i Guaeud | 25
Fo po 4184+ 0.0
pL -35.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

= 1 nuiz 5use+ud | 25
Fueee po 4203+ 0.0
pl -34.65+ 0.00

[ C =28.86 [ps/ch]

_L

50 100
TP delay [ns]

TVC(c,b ch) (6, O

S 4Hue+u4/25
£ pO 4218+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (6, O 15

- 25264041 25
pO 4212+ 0.0
pL -35.8+ 0.0

TP delay [ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0

[ C=27.18 [ps/c ]

A~ 1 pzoe+ud [ 25
o, po 4173 0.0
p1 -36.8 0.0

TP delay [ns]

TVC(cbch) (6.1,4

- InuiZg4/e+04 [ 25
po 4175+ 0.0
pl -34.12+ 0.00

C =29.31 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 1,8

L BUse+U4 25
- pD 4197+ 0.0
p1 -34.46 £ 0.00

TP delay [ns]

TVC(cbch) (61,12

- 1 nuiL pSoe+u4 / 25
= po 4196+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

AT 1L, rzee+u4 | 25
o, po 4193 0.0
p1 -37.3+ 0.0

C =26.81[ps/c 7]

L 1
50 100

TP delay [ns]

TVC(c,b ch) (6 1,5

-1 nu Bage+u4 [ 25
po 4160+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

- /g Sy1e+Ud [ 25
- pO 4230+ 0.0
p1 -34.72:+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, l 13

Tanai g/ /e+ud [ 25
= pO 4191% 0.0
pl -35.39+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6.1,2)

Tanan L fre+ud [ 25
. po 4209+ 0.0
L pl -37.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

-1 nuz bsse+u4 / 25
- pO 4195+ 0.0
[ pL -35.96 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(6, 1, 10

1000

1 nuiz.490e+u4 | 25
- po 4242+ 0.0
L pl -35.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

-1 i (oze+u4 [ 25
= pD 4190+ 0.0
L p1 -34.97 £ 0.00

3000

TP delay [ns]

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

A~ 1 nuiL, 7ube+ud | 25
po 4193+ 0.0
pL -37.3+ 0.0

TP delay [ns]

TVC(c,b ch) (6 1,7

-1y 4zae+04 | 25
- pO 4189+ 0.0
p1 -34.66+ 0.00

TP delay [ns]

TVC(c,b ch) (6, l

T ‘JUbe+U4/25
- pO 4253+ 0.0
p1 -35.41+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 1 15

- Ore+ud [ 25
pO 4197 0.0
p1 -35.54 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,0

A~ 1 nug04re+04 | 25
o po 4198+ 0.0
p1 -37.29+ 0.00

TP delay [ns]

TVC(cbch) (62,4

= 1 9g1e+04 / 25
o, po 4213+ 0.0
pl -35.77 + 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(6, 2,8

-1 Zsye+ua [ 25
- po 4219+ 0.0
p1 349+ 0.0

TP delay [ns]

TVC(cbch) (6,212

Srnu z11e+04 /25
= po 4211+ 0.0
p1 -34.84 + 0.00

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1

AT 1 nuzuuze+u4 [ 25
F... po 4208+ 0.0
p1 -35.93 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

= nur 1 bye+u4 [ 25
Fucse po 4218+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(eb,oh)=(6, 2,9

~ 1 nurgbzbe+u4 [ 25
- po 4262+ 0.0
p1 -36.92 £ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 2 13

T inuizyuse+ud [ 25
- pO 4237+ 0.0
pl -36.49+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,2,2)

- C = 28.34 [ps/ch

X~ 1 nuiz031e+04 [ 25
Fe, po 4207+ 0.0
[ p1 -35.29+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (62,6

Sanun 17 re+u4 [ 25
- pO 4234+ 0.0
[ pl -35.65+ 0.00

3000

TP delay [ns]

TVC(CbCh) (6, 2 10

-1 i uSse+u4 | 25
- pO 4263+ 0.0
L pl -35.77 + 0.00

3000

TP delay [ns]

TVC(c,b Ch) (6, 2 14

- wuizuilerud [ 25
- pD 4224+ 0.0
N p1 -35.24 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6.2,3)

pO
pL

“rnun zz1e+ud [ 25
4211+ 0.0
-36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

-1 nuz Usze+u4 [ 25
4247+ 0.0
-36.1+ 0.0

1
50 00

TP delay [ns]

TVC(e.beh)=(6, 2,

- pO

T, 445e+u4/25
4275+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 2 15

T inuizu4ie+ud [ 25
4242+ 0.0
-35.66 + 0.00

TP delay [ns]



TVC(cbch)(630) TVC(cbch)(631) TVC(cbch)(632) TVC(cbch)(633)
A” 11w bb4e+u4 [ 25 A~ rnuaLsr1e+ud [ 25 AT 1L 3be+u4 [ 25 A~ 1w ayse+ud | 25

4000 P, PO 4195+ 0.0 4000 Fonee po 4201+ 0.0 4000 _=- po 4213+ 0.0 4000 po 4215+ 0.0
pl -36.58 + 0.00 pl -36.82 0.00 r pl -36.65+ 0.00 pl -35.72+ 0.00

3000

- 3000 =1 3000 -1 3000 -1

2000 -1 2000 = 2000 = 2000

1000 — 1000 B 1000 E 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (63,4 TVC(cbch) (6.3, TVC(cbch) (63,6 TVC(c, bch) (63,

“ g tﬁ)éleﬂJA 125 “rnarg, /)dbE+U4/25 “ g l?bée+U4 125 Trnan g QJHE+U4/25
4000 pO 4228+ 0.0 4000 pm, pO 4231% 0.0 4000 e, pO 4235+ 0.0 4000 fas pO 4246+ 0.0
Pl -37.36+ 000 Pl -36.330.00 [ PL_ -36.04% 0.00 Pl 3564+ 000
3000 [ B 3000 E 3000 — — 3000 [ E
2000 - 2000 ] 2000 . 2000 b
woo- C = 26.77 [ps/c 7 1000 E wool- C = 27.75 [ps/ch ] woor C = 28.06 [ps/ch ]
o | ! I L = 1 z
50 00 50 T00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(6,3,8) TVC(e.c=(6,3,9) TVC(eb.ch=(6, 3, 10) TVC(ebeh)=(6, 3, 11)
©rnuz01se+ud / 25 T nug.z3ye+u4 [ 25 T 1nu.438e+04 [ 25 T 2.ype+u4 / 25
4000 fame, pO 4234+ 0.0 4000 fme pO 4252+ 0.0 4000 fome, DO 4281+ 0.0 4000 fe p0 4260+ 0.0
359+ 0.0 Pl 3537000 L PL_ -35.81% 0.00 Pl 3562+ 0.00

3000

T 3000 - 3000 - 3000 .

2000 T 2000 - 2000 -1 2000

1000 1000 - 1000 B 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,3 12 TVC(cbch) (6,313 TVC(cbch) (6,3 14 TVC(C, bch) (63,15

T L sboe+u4 / 25 T 1 goe+u4 /25 Tnan L ve+u4 [ 25 T ruiz.ylbe+u4 [ 25
4000 e PO 4235+ 0.0 4000 s PO 4222+ 0.0 4000 o, PD 4224+ 0.0 4000 fe, pO 4241 0.0
pl -35.62 + 0.00 pl -34.97 + 0.00 I pl -36.05 + 0.00 pl -36.3+ 0.0

= 3000

3000 — 3000 - 3000 -

2000 - 2000 - 2000 =1 2000

1000 1 1000

] 1000 - 1000[-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

A7 nui 3s0e+U4 /25
.. po 4196+ 0.0
pl -35.88 0.00

TP delay [ns]

TVC(cbch) (64,4

- rnuiLz1ve+ud / 25
e, pO 4185+ 0.0
pl -33.95+ 0.00

[ C =29.45 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T, 143e+04 | 25
= po 4189+ 0.0
pl -35.43+ 0.00

TP delay [ns]

TVC(cbch) (64,12

T 1 ope+ud /25
= po 4221+ 0.0
pl -33.45+ 0.00

[C =29.90 [ps/ch] ™. ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

x- 1L doserud | 25
P, po 4176+ 0.0
pL -35.34+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

“nui4z/e+04 [ 25
4184+ 0.0
-34.7+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 4,9

-1 nup.Ubye+ud / 25
= po 4208+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(cbch) (64,13

T inuisive+ud [ 25
= pO 4219+ 0.0
pl -34.56 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

A7 1 nui440e+04 /25
o=, po 4190+ 0.0
[ p1 36+ 0.0

3000

TP delay [ns]

TVC(cbch) (64,6

© i, 734e+04 [ 25
e pO 4188+ 0.0
[ pl -35.18+ 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

Tz, ry1e+u4 [ 25
__ DO 4240+ 0.0
L pl -34.72+ 0.00

TP delay [ns]

TVC(cbch) (64,14

T gy1e+u4 / 25
__ 4228+ 0.0
5 -33.58 + 0.00

FC=20.78 [ps/ch] ™. 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

AT rnuiLouLe+ud [ 25
.. po 4205+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

TVC(c,b ch) (6 4,7

- 1nui by /e+u4d / 25
- pO 4200+ 0.0
p1 -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

T, /U4e+u4/25
== 4225+ 0.0
-33.75+ 0.00

[ C=29.63 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

T nui v4se+ud [ 25
= 4224+ 0.0
-34.43+ 0.00

[ C =29.04 [ps/ch] ]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

X~ 1w seve+u4 [ 25
[Fones, Y 4203 0.0
pl -35.64 + 0.00

TP delay [ns]

TVC(cbch) (6,54

T g zole+ud / 25
Fome, pO 4197+ 0.0
pl -34.05+ 0.00

[ C =29.37 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

©nuz,usze+u4 [ 25
- pO 4216+ 0.0
pl -35.68:+ 0.00

TP delay [ns]

TVC(cbch) (6,5,12

T inuiLy43e+u4 / 25
- pO 4226+ 0.0
pl -35.52 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51

AT 1 nuiL5/oe+u4 [ 25
[, po 4213+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

© U 345e+04 / 25
I 4194+ 0.0
-33.88:+ 0.00

[ C =29.51 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

T nun. b 8e+u4 [ 25
- DO 4213+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (6,5,13

T yize+u4d [ 25
- pO 4248+ 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,52)

TP delay [ns]

TVC(cbch) (6,56

X~ 1w bsze+U4 [ 25
Faase. po 4225+ 0.0
L pl -36.36 + 0.00

3000

Tnug 1z3e+04 / 25
- pO 4208+ 0.0
L pl -34.01% 0.00

- C = 29.40 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

T nug,34ze+04 [ 25
- DO 4242+ 0.0
3 Pl -3559+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

a1 5re+ud [ 25
= PD 4221% 0.0
I pl -35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

A 1uiLdyaerud | 25
™. PO 4211+ 0.0
pl -34.74 + 0.00

TP delay [ns]

TVC(c,b ch) (6 57

T g b30e+u4 [ 25
- PO 4210+ 0.0
Pl 34943000

TP delay [ns]

TVC(c,b ch) (6, 5

aEALVR szze+u4/25
- pO 4247+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

T rose+u4 [ 25
- pO 42351 0.0
pl -35.93 + 0.00

TP delay [ns]



TVC(eD.ch)=(6,6,0) TVE(ED.Ch)=(6,6, 1) TVC(ED.Ch)=(6,6, 2) TVE(EDCh)=(6,6,3)
TonanLo4e+04 /25 AT 1nuiLoize+ud [ 25 X~ 1rnuiLoire+U4 /25 A7 1 nuiLbuYe+U4 / 25

4000k, po 4197+ 0.0 4000, po 4207+ 0.0 a0, po 4202+ 0.0 4000 R, po 4214% 0.0
pl -35.29+ 0.00 pl -35.7 £ 0.0 - pl -35.35+ 0.00 pl -35.29+ 0.00

3000

E 3000 - 3000~ - 3000 E

2000 -1 2000 -1 2000 = -1 2000

] wof C = 28,29 [ps/ch . ol © = 28,34 [ps/ch

1000 B 1000 ]
L 1 1 1 - _1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (66,4 TVC(cbch) (66,5 TVC(cbch) (66,6 TVC(c, bch) (66,7

Tnun 1 31e+04 / 25 -1 nurL g4ye+u4 | 25 TnuiL r31e+04 / 25 S, rzze+u4 | 25
4000 4181+ 00 000, pO 4206+ 0.0 4000E_, pO 41941 00 4000 o, pO 4206+ 0.0
-34.9% 0.0 Pl -36.17+ 0.00 - PL_ 3533+ 0.00 Pl -35.76% 0.00
3000 ] 3000 4 3000 ] 3000 ]
2000 g 2000 ] 2000 E 2000 ]
] 1000 - 1000F = ] 1000 C E
1000 [ C =28.30 [ps/ch ]
- - - -
- - -
- - -
1 1 1 1 1
50 100 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch)=(6,6,8) TVC(eb.c)=(6,6,9) TVC(eb.ch)=(6, 6, 10) TVC(ebeh)=(6,6,11)
© i 345e+04 / 25 Ty r4e+04 1 25 T nuzgbre+u4 [ 25 T 2.bae+u4 25
4000 o, pO 4216+ 0.0 4000 e, pO 4247+ 0.0 4000 [, DO 4258+ 0.0 4000 [ p0 4254+ 0.0
Pl 3549 0.00 Pl 3475000 [ PL_ 3579 0.00 Pl -35.02: 0.00

= 3000

3000 -1 3000 - . 3000

2000 - 2000 |- - 2000 2000

1000 1000F 1000

] 100 C = 28.77 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (6, 6 12) TVC(c,b Ch) (6, 6 13) TVC(c,b Ch) (6, 6 14) TVC(c,b Ch) (6, 6 15)
T nuiLyuse+ud / 25 T ro4e+u4 [ 25 T, 15e+U4 / 25 T su4e+u4 [ 25
4000 pO 4233+ 0.0 4000 pO 4226+ 0.0 4000 PD 4223+ 0.0 4000 o, pO 4237+ 0.0
Pl -3564+ 0.00 pl -35.5+ 0.0 - Pl -35.35%0.00 pl  -36.02+ 0.00

3000

-1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 [~ -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (6,7,0) TVC(c,b Ch) (6,7,1) TVC(c,b Ch) (6,7,2) TVC(c,b Ch) (6,7,3)
K140 (e+04 ] 25 K- 1L [ sae+Ud | 25 X~ 1 6uve+U4 ] 25 X 1L fuse+Ud | 25
4000 41853‘ 000, po 42103‘ 4000, po 42153‘ 4000 o, po 4215?‘
-35.31+ 0.00 pl_ -36.54+ 0.00 [ pl -36.11+ 0.00 Pl -35.37:0.00

- 3000

3000 = 3000 =1 3000 - -1

2000 — 2000 7] 2000 ] 2000 [

1000 J 1000 N 1000: w0l C =28.27 [pS/Ch 1
1 1 ~- 1 1 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6.7,4) TVC(cbch) (6.7,5) TVC(cbch) (6.7,6) TVC(cbch) (6.7,7)
- i bo3e+ud / 25 -1 nui by3e+ud / 25 - rnuz,013e+u4 / 25 S nun zuse+ud [ 25
4000 pO 4199+ 0.0 4000k, pO 4210+ 0.0 4000 fo pO 4218+ 0.0 4000 R pO 4217+ 0.0
pl -34.59 + 0.00 pL -35.17 + 0.00 3 pl -34.89 + 0.00 pL -34.37 + 0.00
3000~ - 3000 - 3000 — — 3000 -
2000 | E 2000 B 2000 - — 2000 [ -
10001 ] 1000 . woor C = 28.66 [ps/ch ] or C = 29.09 [ps/ch] ]
1 1 " [ 1 1 =] 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (6,7,8) TVC(c,b ch) (6.7,9) TVC(c,b, ch) (6,7,10) TVC(c,b ch) (6,7,11)
T nug,szse+ud [ 25 -1 2uge+us / 25 Tnuz5/e+u4 /25 T zble+u4 [ 25
4000 e pO 4208 0.0 4000 pO 4226+ 00 4000 DO 4251£ 00 4000 e, p0 4260+ 0.0
pl -35.83 + 0.00 pL -36.28 + 0.00 [ pl -36.95 + 0.00 pL -37.34:+ 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

0

0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(671 ) TVC(cbch)(6713) TVC(cbch)(67l ) TVC(cbch)(6715)
~ 1 nuiLygse+u4 / 25 T 1.9ye+u4 [ 25 T L sUse+u4 [ 25 T sz re+u4 [ 25
4000 fm, pO 4253+ 0.0 4000 [, pO 4247+ 0.0 4000 fm, PD 4251+ 0.0 4000 [, pO 4261+ 0.0
pl -36.24 + 0.00 pl -37.01+ 0.00 r pl -36.32+ 0.00 pl -36.55+ 0.00

3000 -1 3000 - 3000 -1 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0

A1, L se+ud [ 25
e po 4182+ 0.0
p1 -34.77 + 0.00

TP delay [ns]

TVC(cbch) (6,84

- i 393e+04 [ 25
o, po 4267+ 0.0
pl -38.72+ 0.00

50 10'0 =
TP delay [ns]

TVC(cbch) (6 8,8

-1 bzae+04 25
e, pD 4211+ 0.0
p1 -34.92 % 0.00

TP delay [ns]

TVC(cbch) (6,812

-1 53/e+04 [ 25
= po 4221% 0.0
p1 -35.66+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

x- 1 iz dzoe+ud | 25
F. po 4179+ 0.0
pL -34.61% 0.00

L 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

- nuiL grye+u4d / 25
- pO 4250+ 0.0
pL -37.54+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 8,9

-1t Zsze+0d [ 25
e, pO 4220+ 0.0
p1 -34.45+ 0.00

[ C =29.03 [ps/ch] 7]

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 8 13

T nuiLgnae+ud [ 25
= pO 4233+ 0.0
pl -35.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,8,2)

X~ 1w 1o4e+04 [ 25

4204+ 0.0
-34.89 + 0.00

P w0
L pl
- C = 28.66 [ps/ch 1

+ s

TP delay [ns]
TVC(cbch) (6,8,6)
-1 nur s84e+04 [ 25

pe- pO 4261*7‘
N pl -38.03+ 0.00
- C =26.30 [ps/c .

< o

TP delay [ns]

TVC(eb,ch)=(6, 8, 10

- b

- 1 nug,QUse+u4 / 25
4252+ 0.0
-35.14 + 0.00

pl

TP delay [ns]

TVC(cbch) (6,814

~ 1 nuiL4sve+u4 | 25
4221+ 0.0
-34.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (6,8,

po
pL

3

A7 1 nuz.420e+04 [ 25
4207+ 0.0
-35.61+ 0.00

100

TP delay [ns]

TVC(c,b ch) (6 8,7

- pO
pl

S nuZze+u4 /25
4281+ 0.0
-37.76 + 0.00

100

TP delay [ns]

TVC(e.bch)=(6,8, 1

= po

AT

ve+u4 | 25
4259+ 0.0
-34.89 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 8

pO
p1

15

<1 nui b4oe+u4 / 25
4230+ 0.0
-35+ 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0)

X~ 1 i yave+U4 [ 25
Y 4213+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(cbch) (69,4

T rg/e+ud [ 25
pO 4236+ 0.0
pl -35.06 + 0.00

% o
TP delay [ns]
TVC(cbch) (6 9,8

©1nuz.404e+04 / 25
PD 4220+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(cbch) (6,9, 12

[ C =29.44 [ps/ch]

TinuiLolre+u4 [ 25
PO 4237+ 0.0
pl -33.97 + 0.00

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1

AT 1 nuiLruoe+ud [ 25
— po 4219+ 0.0
pl -35.74+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

“nun1.59e+04 [ 25
4249+ 0.0
-35.7 £ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 9,9

T nun goe+u4 [ 25
DO 4231+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (6,9,13

T 1L 4pbe+u4 [ 25
PO 4233+ 0.0
pl -35.15+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

4000

2000

1000

4000

2000

TVC(cbch) (6,9,2)

X~ 1w 180e+U4 [ 25
po 4236+ 0.0
pl -37.55+ 0.00

TP delay [ns]

TVC(cbch) (69,6

1000

© 1L yze+u4 / 25
[ pO 4258+ 0.0
L Pl -3562%0.00

3000

TP delay [ns]

TVC(cbch) (6, 9 10

T nug.u/ee+ud /25
- DO 4259+ 0.0
I pl -36.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,9,14

1000

- i lie+ud [ 25
- PD 4248+ 0.0
F pl -36.49 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3)

AT 1 nuzusse+ud [ 25
po 4241+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

-1 nui g1be+u4 / 25
PO 4274+ 0.0
pL -36.63+ 0.00

TVC(c,b ch) (6, 9

50 1(;0
TP delay [ns]

o u/ze+u4/25
pO 4270+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(C, bch) (69,15

T bzre+u4 [ 25
pO 4257+ 0.0
pl -36.45+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

1 nuiLs14e+04 / 25

pO 4204+ 0.0
p1 -35.59:+ 0.00

TP delay [ns]

TVC(Cbch) (6, 10 4

- i g3se+u4 [ 25
Facee po 4213+ 0.0
pl -36.69 + 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(6, 10,8

- i raue+ud | 25
e, po 4218+ 0.0
p1 -36.86+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10 12

T L ysse+u4 / 25
= po 4227+ 0.0
pl -35.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,10,1)

F.... po

A7 L 40e+ud | 25
4206 + 0.0
pL -36.04 + 0.00

TP delay

TVC(c,b Ch) (6, 10 5

g

- pO

[ns]

- re+04 /25
4217+ 0.0
pl -36.17 + 0.00

TP delay

TVC(eb.oh)=(6, 10,9

e pO

[ns]

~ 1 nuis.430e+04 | 25
4221+ 0.0
p1 -35.84 £ 0.00

TP delay

TVC(c,b ch) (6, 10 13

[ns]

Tinui szie+ud [ 25
4228+ 0.0
-35.31+ 0.00

PR R SR |
50 100

TP delay

[ns]

4000

2000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

1000

TVC(CbCh) (6,10,2)

A~ 1 nui oUae+U4 / 25

TP delay [ns]

TVC(c,b ch) (6, 10 6

_=_ po 4218+ 0.0
[ p1 -36.23+ 0.00

3000

1 nuiL843e+04 / 25
- pO 4226+ 0.0
L pl -36.78 + 0.00

TP delay [ns]

TVC(e,b,ch)=(6, 10, 10

1000

0

- i Yobe+ud | 25
- pO 4248+ 0.0
[ pl -36.88:+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 10 14

T nuiLgase+U4 / 25
4229+ 0.0
-35.31+ 0.00

PR R R SR R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,10,3)

A~ 1 nuiLbsze+ud [ 25
4212+ 0.0
pL -36.94 + 0.00

po

TP delay

TVC(c,b Ch) (6, 10 7

o= pO
p1

[ns]

-1 i BYyoe+u4 / 25
4230+ 0.0
-36.29 + 0.00

TP delay

TVC(Cbch) (6, 10 11

= pO

[ns]

T onan 1 sge+ud [ 25
4261+ 0.0
p1 -37.04 + 0.00

TP delay

TVC(cbch) (6, 10 15

[ns]

Tonai g/ /e+ud /25
4236+ 0.0
p1 -35.54 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,11,0)

AT nuiL g oe+u4 /25
4223+ 0.0
-35.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,11,4

S il zze+04 [ 25
4181+ 0.0
-36.1+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (6, 11 8

Tanuz1//e+04 /25
- pO 4228+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (611,12

- L ove+ud [ 25
[ pO 4250+ 0.0
pl -34.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,11,1)

A7 1 nuiLbybe+u4 [ 25
[omm, PO 4221 0.0
pl -34.43+ 0.00

[ C =29.05 [ps/ch]

_L 1
50 100

TP delay [ns]

TVC(cbch) (6,11,5

ur 9592 /25
Fe, DU 4196+ 0.0
pl -37.09+ 0.00

TP delay [ns]

TVC(c,b ch) (6,11,9

T b 1be+u4 / 25
4216+ 0.0
-34.4 + 0.0

[ C =29.07 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (611,13

T ozge+u4 [ 25
™= pO 4250+ 0.0
pl -34.62 + 0.00

[ C =28.88 [ps/ch]

PR U S S |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,11,2)

- C =27.97 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (6,116

T ure+u4 [ 25
[Fonee, PO 4238+ 0.0
L pl -35.75+ 0.00

-1 uIL402e+04 | 25
- pO 4204+ 0.0
r pl -36.83+ 0.00

TP delay [ns]

TVC(c,b, ch) (6, 11 10

T 3o1e+ud [ 25
- DO 4249+ 0.0
[ pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (6,11, 14

X~ 1 i bape+U4 [ 25
™ po 4266+ 0.0
L pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (6,11,3)

4000 e po

AT 1L ssoe+ud [ 25
4245+ 0.0
pl -36.65+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (6,11,7

4000 o 0

[ns]

-1 nui Bule+u4 / 25
4212+ 0.0
pl -35.86+ 0.00

3000

2000

1000 [~ C

50 1(;0
TP delay

TVC(cbch) (6,11, 11

4000 ey pO

[ns]

-1 nuiz.usze+ud [ 25
4251% 0.0
pl -35.54 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (611,15

4000

[ns]

)

-1 bage+u4 [ 25
4265+ 0.0
-35.32+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 12 0)

T L 4oe+ud /25
- pO 4179+ 0.0
p1 -34.41+ 0.00

TP delay [ns]

TVC(cbch) (6,124

- 1L Bloe+ud / 25
pO 4231% 0.0
pl -37.61x 0.00

TP delay [ns]

TVC(cbch) (6, 12 8

T L, ruse+u4 / 25
= po 4196+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(cbch) (6,12, 12

T rnuiLg47e+04 /25
pO 4225+ 0.0
pl -34.69 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6, 12 1)

Srna “uaz3/25
P pO 4188+ 0.1
Pl 3352+ 0.00

[ C =29.84 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(cbch) (6,125

- nui sU1e+u4 / 25
Fomes, po 4225+ 0.0
pL -36.83 + 0.00

TP delay [ns]

TVC(cbch) (6, 12 9

T onun 5 Bbe+u4 [ 25
= po 4222+ 0.0
p1 -34.96 £ 0.00

TP delay [ns]

TVC(cbch) (612,13

T nuivz3e+ud [ 25
pO 4221% 0.0
pl -34.81+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(CbCh) (6,12,2)

F C = 29.77 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6.12,6

A7 1nun szae+04 /25
_l'_ po 4188+ 0.0
- pl -33.59+ 0.00

T i 74ze+04 [ 25
F po 4219+ 0.0
[ pl -36.81+ 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

1000

Tz 1/1e+04 /25
- po 4240+ 0.0
- pl -34.78 + 0.00

TP delay [ns]

TVC(cbch) (6,12, 14

1L sype+u4d / 25
__ 4231+ 0.0
L -34.28 + 0.00

FC=29.17 [psich™. 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,12,3)

AT 1 nuiL4yse+ud [ 25
F po 4214+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c, bch) (6,127

-1 nun goze+u4 [ 25
- pO 4257+ 0.0
-38.2+ 0.0

50 1(;0
TP delay [ns]

TVC(eheh)=(6, 12, 11

TanuiLg/ /e+u4 25
- pO 4261+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(cbch) (612,15

T nui seve+ud [ 25
= pO 4209+ 0.0
-34.27 + 0.00

[ C=29.18 [ps/ch]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 &

3000

2000

1000

TVC(CbCh) (6, 13 0)

T szse+u4 [ 25
- pO 4198+ 0.0
p1 -36.7 0.0

TP delay [ns]

TVC(cbch) (6,134

- i bole+ud / 25
pO 4160+ 0.0
p1 -35.42:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 13 8

T inu, (1oe+u4 / 25
Fome, pO 4196+ 0.0
pl -34.68 + 0.00

TP delay [ns]

TVC(cbch) (6,13, 12

T L ysve+u4 / 25
pO 4208+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(chh) (6,13,1)

4000 fu po

K™ 1 nuiLgive+ud [ 25
4207+ 0.0
pl -36.68 + 0.00

3000

2000

1000

TP delay

TVC(c, bch) (6,135

4000

[ns]

-1 nui BU3e+u4 / 25
4163+ 0.0
pl -35.87 + 0.00

3000

2000

1000

TP delay

TVC(c, bch) (6, 13 9

4000 [,

[ns]

T nung.oye+ud [ 25
4231% 0.0
-35.2+ 0.0

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (613,13

40007 pO

p1

[ns]

TinuiLyr3e+ud [ 25
4181+ 0.0
-34.18 + 0.00

3000

2000 |

00 C = 29.26 [ps/ch]

PR U S S |
50 100

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 6, 13, 2)

ur

Faase. po

X1 2425125
4208+ 0.1
p1 -36.29:+ 0.00

TP delay

TVC(cbch) (6.13,6

[ns]

~ i, robe+u4 / 25
4168+ 0.0
-35.39 + 0.00

[oese, pO
[ =
[ C =28.26 [ps/ch

TP delay

TVC(cbch) (6, 13 10

[ns]

AL b12e+04/25
4000 . pO 4214+ 0.0
X pl -33.87:+ 0.00
a000| ]
2000F .
oo C = 29.52 [ps/ch] ™, 7
- 1 1 -
o 50 100
TP delay [ns]

4000

3000
2000

1000

TVC(cbch) (6,13, 14

P pD

T L oe+u4 [ 25
4200+ 0.0
pl -34.75+ 0.00

TP delay

[ns]

TVC(Cbch) (6,13,3)

4000 fu__ po

AT 1 nuiLsyae+U4 [ 25
4211+ 0.0
pl -36.28 + 0.00

3000

2000

1000

TP delay

TVC(c, bch) (6,137

4000 pO

[ns]

“ i rg/e+u4 / 25
4192+ 0.0
pl -35.59 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (6, 13 1

4000 ey pO

[ns]

T nai/18e+u4 / 25
4233+ 0.0
pl -36.08 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (6,13,15

4000 pg

p1

[ns]

T inuizyrye+ud [ 25
4199+ 0.0
-35.2+ 0.0

3000 -

2000 =

woor C = 28.41 [ps/ch

50 100

TP delay

[ns]



TVC(CbCh) (6, 14 0)

4000

3000

2000

1000

T ssse+u4 [ 25
.. pO 4198+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (6,144

4000

3000

2000

1000

-1 34ze+04 [ 25
- pO 4200+ 0.0
pl -35.27:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 14 8

4000

3000

2000

1000

[ C =29.58 [ps/ch]

T nuzpase+ud | 25
= po 4179+ 0.0
-33.8+ 0.0

0

1
50 100

TP delay [ns]

TVC(cbch) (6,14, 12

4000

3000

2000

1000

i puse+u4 / 25
- po 4207+ 0.0
pl -35.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,14,1)

AT 1nuiLsb/e+ud [ 25
P, po 4198+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(c, bch) (6.14,5

-1 nui 348e+04 / 25
- pO 4206+ 0.0
pL -36.42:+ 0.00

TP delay [ns]

TVC(ebCh)=(6, 14,9

[ C =29.39 [ps/ch]

<1 nu, /9ve+u4 / 25
= pO 4201+ 0.0
p1 -34.02+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (614,13

TinuiLorle+ud [ 25
- pO 4191+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(CbCh) (6,14,2)

4000

2000

1000

A7 1 nui suse+u4 / 25
-, po 4202+ 0.0
- pl -35.72+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.14,6

4000

3000

2000

1000

-1 nurbyye+u4 [ 25
- pO 4218+ 0.0
[ pl -36.59+ 0.00

TP delay [ns]

TVC(cbch) (6, 14 10

4000

3000

2000

1000

T 35ze+04 | 25
= po 4209+ 0.0
- pl -33.99+ 0.00

F C = 29.42 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (6. 14,14

4000

2000

1000

~ i ba5e+04 / 25
= pD 4212+ 0.0
+ pl -36.25+ 0.00

3000

TP delay [ns]

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,14,3)

X- 1 L sbae+U4 | 25
P, po 4220+ 0.0
pL -35.42:+ 0.00

TP delay [ns]

TVC(c, bch) (6,147

-1 nui r49e+04 / 25
- pO 4237+ 0.0
p1 -36.84 + 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(6, 14, 11

<1 nui vae+u4 [ 25
= po 4215+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(cbch) (614,15

T inan 1 bye+ud [ 25
- pO 4201+ 0.0
p1 -35.56 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

TVC(CbCh) (6, 15 0)

T Loz ie+u4 [ 25
4147+ 0.0
-35.96 + 0.00

TP delay [ns]

TVC(Cbch) (6, 15 4

- 1 1uiL404e+04 / 25
4169+ 0.0
-34.36 + 0.00

F pO
pL
3000~ 7
2000 - 7
1000 C 7
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (6, 15 8)
T nuiLbre+u4 /25
4000 fr__ pD 4210+ 0.0
p1 -33.88 + 0.00
3000 - 7
2000 7]
oo C = 29.51 [ps/ch] s, 7
¢ =0 00

4000

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (6, 15 12

[ pO

p1

© i 5z9e+u4 [ 25
4284+ 0.0
-37.09+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,15,1)

A- 1 LSZ (e+U4 | 25
Fe po 4149+ 0.0
pL -34.94+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 15 5

- nun z33e+04 / 25
P pO 4182+ 0.0
p1 -33.94+ 0.00

[ C =29.46 [ps/ch]

50 150
TP delay [ns]

TVC(c,b ch) (6, 15

T inui r39e+u4 25
b pO 4227+ 0.0
p1 -34.42 + 0.00

[ C =29.05 [ps/ch] 7

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 15 13

-/ 1 ade+ud | 25
e, pO 4277+ 0.0
pl -36.73+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,15,2)

P PO

X~ 1 nuiLblze+u4 [ 25
4155+ 0.0
p1 -35.14 + 0.00

TP delay

TVC(c,b ch) (6, 15 6

E_ pO

pl

[ns]

T L zyze+04 | 25
4192+ 0.0
-34.84 + 0.00

- C =28.70 [ps/ch

50 10'0
TP delay

TVC(e,b,ch)=(6, 15, 10

[ns]

5,10)
11uz,0/oe+u4 / 25
4000 [, pO 4250+ 0.0
r pL -34.58 + 0.00
a000|- ]
2000F .
woor C =28.92 [ps/ch]™, 7
1 1 -
b 50 100
TP delay [ns]

4000

3000
2000

1000

TVC(c,b Ch) (6, 15 14

b pD

- 1 g15e+U4 [ 25
4276+ 0.0
p1 -36.17 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,15,3)

AT 1 nuiL4o1e+U4 /25
F... po 4172+ 0.0
p1 -35.92+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 15 7

= nui 333e+04 / 25
. po 4197+ 0.0
pl -33.74+ 0.00

[ C =29.64 [ps/ch]

L
50 100
TP delay [ns]

TVC(e,beh)=(6, 15, 11

TinuiLpr1e+u4 /25
- pO 4241% 0.0
pl -33.96 + 0.00

[ C =29.44 [ps/ch]

1
50 00

TP delay [ns]

TVC(cbch) (6, 15 15

- ssge+ud [ 25
N pO 4283+ 0.0
p1 -36.65 + 0.00

TP delay [ns]
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1000

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0

X~ 1w byse+U4 [ 25
e, Y 4196+ 0.0
pl -36.4 + 0.0

TP delay [ns]

TVC(cbch) (70,4

=1 nuz,u35e+U5 / 25
pO 4200+ 0.1
pl -34.45+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 0,8

“ o 2309/ 25
- PD 4274+ 0.1
pl -35.48 + 0.00

TP delay [ns]

TVC(cbch) (7,0,12

T 1o, zz4e+04 | 25
- PO 4300+ 0.1
pl -37.42+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,1

R 1 Ui 2uae+ud [ 25
[Fromes, Y 4197+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(cbch) (7,0,5

AL 1218125
- 4268+ 0.1
-34.97 + 0.00

[ C =28.60 [ps/ch] 7]

50 1(;0
TP delay [ns]

TVC(eb,oh)=(7,0,9)

S 3233125
- DO 4264+ 0.1
pl -36.16 + 0.00

TP delay [ns]

TVC(cbch) (7,0,13

Tinus g roe+ud [ 25
4237+ 0.0
-37.11+ 0.00

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,0,2)

AT 1nugsr1e+04 /25

TP delay [ns]

TVC(cbch) (70,6

e, po 4207+ 0.0
I pl -36.29+ 0.00

3000

11, 313e+04 [ 25

= pO 4255+ 0.1
[ PL_ -34.37+000

- C = 29.00 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (7, 0 10

Trnu bU38 /25
- DO 4288+ 0.0
3 PL_ -36.56% 0.00

TP delay [ns]

TVC(cbch) (7,0,14

T, (Zoe+u4 [ 25
F PD 4237+ 0.0
I pl -38.03 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,3

AT 1nug,21e+U4 /25
po 4204+ 0.0
p1 -36.02+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

- Beze+ud | 25
- PO 4272+ 0.1
Pl 3476000

[ C =28.77 [ps/ch]

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (7, O

- nug, bb/e+U4/25
= p0 4286+ 0.1
pL -35.81+ 0.00

TP delay [ns]

TVC(C, bch) (7,0,15

- i 3a4e+U4 [ 25
- pO 4242+ 0.0
pl -37.24 + 0.00

TP delay [ns]
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1000
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,0

AT inui sre+04 /25
- po 4175+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (7.1,4

- i Boze+ud / 25
e, pO 4221 0.0
p1 -35.94+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 1,8

ALl 2e+04 /25
Tanse, PD 4225+ 0.0
pl -35.37 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,1,12

~1uizuy4e+u4 | 25
= po 4223+ 0.0
pl -35.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (71,1

x- 1L G5 e+U4 | 25
- po 4189+ 0.0
pL -36.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 1,5

- rnuLB23e+V4 [ 25
= DU 4216+ 0.0
pl -35.37+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 1

[ C =29.02 [ps/ch]

T nug.p4/e+04 /25
po 4236+ 0.0
p1 -34.46 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (71,13

T inuiz 134e+04 / 25
pO 4220+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(cbch) (7,1,2)

4000

2000

1000

K™ 1 nuiLguye+ud / 25
Fuse po 4190+ 0.0
L pl -36.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,1,6

4000

3000

2000

1000

- C = 28.06 [ps/ch

-1 nuLy1ye+ud / 25
pO 4230+ 0.0
pl -35.63+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(7, 1, 10

4000

3000

1000

2000

- C =30.04 [ps/ch] ™. 7

© 1 nuig.zope+ud | 25
- po 4249+ 0.0
L pl -33.29+ 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (7.1,14

4000

2000

1000

~ 1z 140e+04 / 25
. pD 4224+ 0.0
L pl -35.72+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,3)

T nun zuze+ud | 25
- pO 4220+ 0.0
pl -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (7 1,7

-1 nun ggle+u4 / 25
- pO 4238+ 0.0
pL -35.86+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 1

[ C =28.89 [ps/ch]

1)
T nuz 33be+u4 / 25
- pO 4261+ 0.0
p1 -34.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7.1,15

T nuiz10se+u4 / 25
e pO 4227+ 0.0
p1 -35.17+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

X~ 1 s14e+04 /25
PO 4204+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(cbch) (72,4

- 293e+04 | 25
e pO 4184+ 0.0
pl -35.19+ 0.00

e ]
% o
TP delay [ns]
TVC(c,b ch) (7, 2 8

T rnuz.4z3e+04 | 25
PD 4230+ 0.0
pl -37.34+ 0.00

TP delay [ns]

TVC(cbch) (7,212

T inuiLysze+u4 [ 25
PO 4213+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,1

x- 1L dsserud | 25
P po 4188+ 0.0
pL -36.08 + 0.00

TP delay [ns]

TVC(c,b ch) (7,2,5

'ynulzzle+04/25
[, po 4204+ 0.0
pL -36.04 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 2

T 4.93e+04 / 25
- pO 42351 0.0
pL -35.36+ 0.00

TP delay [ns]

TVC(cbch) (7.2,13

T yu4e+ud [ 25
= PO 4210% 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,2,2)

TP delay [ns]

TVC(cbch) (7,2,6

i zzevid ] 25
e, PO 4197 0.0
3 Pl -36.46% 0.00

3000

- rnuiLy11e+u4 / 25
- pO 4186+ 0.0
[ pl -34.48 + 0.00

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

© 1 bz4e+04 [ 25
- DO 4252+ 0.0
I pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (7,214

Tz, z04e+04 [ 25
F PD 4223+ 0.0
I pl -35.42 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3

AT 1 nuiLoo/e+u4 [ 25
[roem, PO 4210 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

-1 nu.48ze+u4 | 25
= PO 4209+ 0.0
pL -35.92+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (7, 2 11

- za4e+04 [ 25
4257+ 0.0
-37.5+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (7.2,15

Tz, usse+u4 [ 25
- PO 4227+ 0.0
pl -35.54 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0

K™ nui rooe+U4 /25
P po 4183+ 0.0
pl -35.89 0.00

TP delay [ns]

TVC(cbch) (7.3,4

T i, 739e+04 [ 25
[, PO 4176+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (7 3,8

©1nuz. Zope+u4 | 25
PD 4192+ 0.0
pl -36.11+ 0.00

TP delay [ns]

TVC(cbch) (7,312

Trnuizusie+ud | 25
pO 4213+ 0.0
pl -36.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,1)

T/ Lble+ud /25
s pO 4192+ 0.0
pl -37.09 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

- nui /gle+u4 / 25
o, DU 4186+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

-1 nuir.4usae+ud [ 25
= pO 4212+ 0.0
pl -36.65 + 0.00

TP delay [ns]

TVC(cbch) (7.3,13

TinuiLylse+ud / 25
- pO 4204+ 0.0
pl -36.18 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (7,3,2)

A~ 1 nuiLgyze+ud /25
po 4199+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (73,6

- rnunLgBle+ud / 25
pO 4190 0.0
pl -35.79+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (7, 3 10

T g1/e+u4 /25
4230+ 0.0
-37.01+ 0.00

1
100

TP delay [ns]

TVC(cbch) (7.3 14

T pyle+ud /25
pD 4208+ 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,3

AT L syze+ud [ 25
P e po 4199+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

- nun 1ype+ud [ 25
4194+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (7, 3

Tz, zue+u4/25
= po 4237+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,15

TinuiLysie+ud /25
po 4220+ 0.0
p1 -35.83+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,0)

Fonee po

pl

T Love+ud /25
4186+ 0.0
-35.81+ 0.00

TP delay [ns]

TVC(cbch) (7,4,4

blbe+u4 / 25
4209+ 0.0
-35.64 + 0.00

— po, o
pl
e 4
% o
TP delay [ns]
TVC(c,b ch) (7, 4 8

©1nuz5uze+u4 | 25
4211+ 0.0
-34.81+ 0.00

TP delay [ns]

TVC(cbch) (7,4,12

=1 nug,

z1be+U4 [ 25
4215+ 0.0
-35.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (7,4,1)

P PO

pl

A~ 1 1L bave+U4 | 25
4182+ 0.0
-35.08:+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7 4,5

“nui /4ze+04 [ 25
4212+ 0.0
-35.25+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

-1 nu.pule+ud / 25
4231+ 0.0
-34.99 + 0.00

TP delay [ns]

TVC(cbch) (7.4,13

TinuiLys/e+ud [ 25
4222+ 0.0
-35.31+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

F pO

L pl
3000:— __
2000:— _:
wof C = 28,82 [psich]™, 1

! % o

4000

3000
2000

1000

TVC(cbch) (7,4,2)

-35.82 + 0.00

T Lse+ud /25
P pO 4190+ 0.0
L pl -35.82+ 0.

TP delay [ns]

TVC(cbch) (7.4,6

i

1000

pO
p1

2e+04 /25
4223+ 0.0
-36.63 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 4,10

T 1nuig.ulse+u4 / 25
4247+ 0.0
-34.7+ 0.0

TP delay [ns]

TVC(cbch) (7.4,14

T zuse+ud /25
= pD 4211+ 0.0
L p1 -35.67+ 0.

-35.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,3)

e, po

AT 1 nuiLb43e+U4 [ 25
4194+ 0.0
-35.52+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (7 4,7

pO
pl

T nuZ33e+u4 / 25
4230+ 0.0
-36.82+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (7, 4

1)
-1 nuiz vbze+ud [ 25
4249+ 0.0
-35.05+ 0.00

TP delay [ns]

TVC(C, bch) (7.4,15

Tinuzzsie+ud [ 25
4232+ 0.0
-36.94+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0)

A7 nun ose+ud / 25
4185+ 0.0
-34.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,54

- 1L Syse+04 | 25
e, pO 4187+ 0.0
p1 -34.48+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 5,8

Tz 1z8e+04 | 25
[, PD 4204+ 0.0
pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (7,5,12

T 1ve+ud /25
= po 4236+ 0.0
pl -36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51

AT 1L zse+ud [ 25
Frase po 4191+ 0.0
pl -35.19+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 55

~ 1 nui /obe+u4 [ 25
e, pO 4208+ 0.0
pL -35.52.+ 0.00

TP delay [ns]

TVC(c,b ch) (7 59

T nu, 738e+U4 / 25
= po 4217+ 0.0
pl -36.73 + 0.00

TP delay [ns]

TVC(cbch) (7.5,13

T inui ysse+ud / 25
4236+ 0.0
-36.61+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,5,2)

e, po

X~ 1L siie+ud [ 25
4210+ 0.0
pl -35.77 + 0.00

TP delay

TVC(cbch) (7,56

pO
p1

[ns]

- i bzoe+u4 / 25
4204+ 0.0
-34.95+ 0.00

- C = 28.61 [ps/ch

50 10‘0
TP delay

TVC(cbch) (7, 5 10

1000

0

= o

[ns]

© 1 nuig.zoge+u4 | 25
4236+ 0.0
pl -36.46 + 0.00

TP delay

TVC(cbch) (7,5,14

- pD

[ns]

T zuoe+ud /25
4239+ 0.0
pl -37.06 + 0.00

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,3

AT nuiL, 7 34e+U4 [ 25
P s po 4216+ 0.0
p1 -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (7 57

-1 Boge+u4 / 25
- pO 4215+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 5

T, 159e+u4/25
= po 4239+ 0.0
pl -36.16 + 0.00

TP delay [ns]

TVC(C, bch) (7.5,15

T nui s30e+ud [ 25
e pO 4224+ 0.0
p1 -35.83+ 0.00

TP delay [ns]



TVC(cbch) (7,6,0

4000

3000

2000

1000

A~ 1 nuiL g1 re+ud [ 25
o po 4224+ 0.0
p1 -36.63+ 0.00

TP delay [ns]

TVC(cbch) (7.6,4

4000

Srnu 1ye+ud /25
Faase po 4205+ 0.0
pl -35.32+ 0.00

3000 - ]
2000 - ]
1000~ C ]
1 1 "
50 100
TP delay [ns]
TVC(cbch) (7.6,8)
© 1 nu.boae+ud [ 25
4000 [ pD 4186+ 0.0
p1 -33.92 0.00
3000 - 7
2000 - 7
wor C =29.48 [ps/chl ™, 7
. -

0

1
50 00

TP delay [ns]

TVC(Cbch) (7, 6 12

4000

3000

2000

1000

T s broe+u4 / 25
= po 4200+ 0.0
pl -32.37+ 0.00

[ C =30.89 [ps/ch]

N M |
= 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

A1 L Bave+U4 | 25
P oaee po 4227+ 0.0
pL -36.31% 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

-1 nuz.038e+u4 / 25
[Fomes, pO 4222+ 0.0
pl -35.74 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (7 6,9

-1 nuw.oYoe+u4 / 25
= pO 4220+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 6 13

T nuiLasae+ud [ 25
- pO 4233+ 0.0
pl -35.28 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000

2000

TVC(cbch) (7,6,2)

X~ 1L yzse+u4 [ 25
po 4221 0.0
p1 -35.83+ 0.00

TP delay [ns]

TVC(cbch) (76,6

©1nu,3uve+u4 / 25
pO 4236+ 0.0
pl -36.17 + 0.00

10‘0
TP delay [ns]

TVC(eb,oh)=(7, 6, 10

- 1wt 158e+04 | 25
pO 4245 0.0
p1 -35.75+ 0.00

1
100

TP delay [ns]

TVC(cbch) (7.6,14

1 nuiz,uaze+u4 [ 25
pD 4246+ 0.0
p1 -36.49 £ 0.00

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,3

A~ 1 nuiLByye+usd | 25
= po 4238+ 0.0
pL -36.43+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

- U 3b3e+u4 / 25
- pO 4249+ 0.0
p1 -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 6

T swe+u4/25
= pO 4233+ 0.0
p1 -34.94 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 6 15

T inuiz 1bse+ud [ 25
pO 4238+ 0.0
-35.563+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0

K71 nuizyse+ud [ 25
- po 4204+ 0.0
p1 -34.74+ 0.00

TP delay [ns]

TVC(cbch) (77,4

- rnuiLa81e+u4 / 25
pO 4201+ 0.0
p1 -34.76+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

T nuz3yse+u4 | 25
- pO 4214+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (7,7,12

L gose+u4 / 25
= po 4221+ 0.0
pl -37.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,71

AT 1 nuiLsoze+ud [ 25
e po 4217+ 0.0
pl -35.36 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 7,5

~1nui 41 /e+04 / 25
E pO 4212+ 0.0
pL -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

T nu.p18e+u4 / 25
= po 4229+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (7,7,13

Tanai3ze+ud [ 25
= pO 4219+ 0.0
pl -37.58 + 0.00

50 100

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,7,2)

- C = 28.57 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

K™ 1 nuiquae+u4 /25
P, po 4216+ 0.0
- pl -35+ 0.0

-1 nurbBle+ud / 25
pO 4230+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

©1nuz 3ooe+u4 [ 25
=, po 4237+ 0.0
- pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (7,7,14

Ty e+u4 [ 25
- pD 4218+ 0.0
L p1 -36.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,3

AT 1L soze+ud [ 25
I s po 4221+ 0.0
pl -35.28 + 0.00

[ C =28.35[ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (7 7,7

-1 nui bb3e+u4 / 25
- pO 4232+ 0.0
pL -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

1)
-1 nui ggoe+u4 / 25
= pO 4248+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(C, bch) (7.7,15

-1 nuiLyuae+ud / 25
- po 4219+ 0.0
p1 -37.06 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,0)

A~ 1 nui Baae+04 25
4160+ 0.0
p1 -35.93+ 0.00

TP delay

TVC(cbch) (7.8,4

[ns]

- i BYse+u4 / 25
4178+ 0.0
-35.61+ 0.00

50 10'0
TP delay

TVC(cbch) (7 8,8

Fane, PD

[ns]

-1 nug. o5 /e+04 [ 25
4194+ 0.0
pl -35.04 + 0.00

TP delay

TVC(cbch) (7,812

B pO

[ns]

~1nuiz4s4e+04 [ 25
4206+ 0.0
pl -37.17+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.8,1)

F... po

AT 1 nuiLByve+u4 [ 25
4174+ 0.0
pl -35.47 + 0.00

TP delay

TVC(c,b ch) (7 8,5

[ns]

- 1L Byse+ud | 25
4185+ 0.0
pl -35.97 + 0.00

TP delay

TVC(c,b ch) (7 8,9

pO

[ns]

<1 nuiLguse+us / 25
4215+ 0.0
p1 -35.77 + 0.00

TP delay

TVC(c,b Ch) (7, 8 13

[ns]

Tinuzagle+ud [ 25
4212+ 0.0
pl -37.97+ 0.00

TP delay

. PR LY
50 100

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

TVC(cbch) (7,8,2)

e, PO

X~ 1 1L Yobe+u4 / 25
4175+ 0.0
p1 -35.31+ 0.00

TP delay
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